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Alterations in the environments represent selective pressures upon the population to which it

must adjust. This statement infers that

a. Organisms will increase in population in a changed environment.

b. Organisms which fail to adjust to the changed environment must vanish.

c. environments represent selective pressures upon Organism will change the
environment under selective pressure.

d. Answer not known

FOBBIFGHILe060 gBUBD  IBBEHIGET, WHEer [/ Mot OTasomwd  gfl GeFuiw  Geuewgul

BHMHOHBEBLILLL  SI(PSHHHIBN6NDH GHBISHDH OB 6ILMmS BbdH DBHMmS 2 6wlTHHIS MBS

a. wileumbd Gwelsd o ulflamser CFHTms SiHlsiMELW0

b. wrmiw GasE giu wimpTes o ulflomse ouibs Gurs CrfGL

C. FBBMIFGHWeIe0 gBUBLD WLIBBESEHSE gBu 2 ulflomeer SHST 2 (Hou SmOLenL LTHHslH
QmeiTErpLD

d. CaibOSHEHBIIL L DIPSHHHHET S o ulfeIbiseT @60 LOTBHBID

e. alemL Gxflwealsvenen

Which is the stronger acid than phenol due to the presence of three same electron with drawing
groups

(i) O-Toluic Acid

(i)  Benzoic Acid

(iii)  Salicylic Acid

(iv)  Picric Acid

a. iii only b.ionly c.ii and iv only

d. iv only e. Answer not known

Uemmemev el suellemio 0@, wBMID ety SICH 6levdbLJmell  HauT Hmet OBTWIL  CHTG S H6N
QuiBmieien DlleVD 6157

(i) O - GLmedulls opublevld

(i)  Quensmuis Sevid

(iii) &Teldleds oleviD

(iv) dafs oufeon

a. iii o B b.i wl @B C. ii oBEId iv 1ol (Hb
d.iv wl@Gw e. alenL  GaMuwealsvenso

Match the following:

A. Polyethyleneglycol 1. Herbicide

B. Bt Toxin 2. Stress Tolerance

C. Glyphosate 3. Insecticide
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D. Proline 4. Cell Fusion

A B C D
a. 3 4 1 2
b. 2 1 4 3
C. 4 1 3 2
d. 4 3 1 2

e. Answer not known
BIPHHMILaUBENB  CILIT(HIHSHIS.

A. umed e1gHedlen FHemendTed 1. ®mensH6Hme060
B. Bt p&Famer 2. OWHP FAHLILSHHETENLD
C. danenGumBsL_ 3. YFHE0sme060
D. yGymelesr 4. 2 ulgem Gemenie)
A B C D
a 3 4 1 2
b. 2 1 4 3
C. 4 1 3 2
d. 4 3 1 2
e. allenL  Gafwalsvenev

was the first mission to be operationalized under the National Action Plan on Climate

Change (NAPCC)
a. Solar Cities Programme (SCP) b. National Solar Mission (NSM)
c. Solar Green Building (SGB) d. Development of Solar Cities (DSC)

e. Answer not known
STevBlenev  LTBBLL GMIHH — Bl CFwed HULHHT S OFWOLHSHHILL 2 6T6m (LpFHev  Liewf

G LD.
a. Gfw @efl BEIBISeT FHILLD b. Cadw @flw @efl Lewf
c. Giw qefl LUFMF SLIgL LD d. &iw gefl mEaywBisele alenisd

e. allenL  Gaflwalsvenev

Which Biodiversity park in India was announced as the 1st “Other Effective Area - based
Conservation Measures” (OECMs) site?

a. Tilpath Valley Biodiversity Park b. Aravalli Biodiversity Park

c. Yamuna Biodiversity Park d. Adayar Ecopark

e. alewL Gaflwailsdenso

@bFHwmaled o 66 6hd LIGLAIUNT LBIST, (LPHEOTeUSHI LIWLEDIGTEN LGS Fibsd UTHISTIL SHeNLoTH
(OECMs) amaildaliul (heteng.

a. Flevudh LeTeNSHHTHEG LeOeUNTL LBIST b. eyeueved LIeLEUITT LyBIsBT

C. WG LIeOSIUTTLI LM d. 9LWTE SBBIFG0 RIS

e. allewl  Ggfluaisvenso

PM Gatishaki is a transformative approach for economic growth and Sustainable Development
which focuses on

a. Educational Development b. Multimodal Connectivity

c. Empowerment of SHGs d. Environmental Development

e. Answer not known
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10.

PM s8gsd eaaiug  QUImeNTHTY  euenT&d] 1oBmId  Heveowmen elenTFHHaTe  IOTBHI  OIelE
(POBWTGLD B G B0 Faualld OFVISHHIF MBS

a. deva alenT&d b. ueiws Bmenial c. SHGs-a51 @18)&myib

d. sBorLs GGbe aleniTed) e. allenL  Ggflualsvenso

Which one of the following is NOT an objective of the Union Government’s ‘Beti Bachao Beti
Padhao’” scheme?

i. Prevention of gender biased sex selective elimination

ii. Ensuring survival and protection of the Girl child

iii. =~ Ensuring education and participation of the Girl child

iv.  Creating a fixed deposit in the name of the Girl child concerned
a.ionly b.iand ii c. iii only
d. iv only e. Answer not known

saremiueuppieT ok ‘Buily usCam, Guliy usHBsm b EMw Sfar FHLsHHar GpToHsd
SlemLwirg)?

1. ureder SiglitienLullevrerr GHiTey BHEHHmes HML OFUISH0

ii. QuewT GWHmBHHeTET aUTDe| WBMILD UTHISTULTmeT 2 mid 6FuIHed

1ii. Ouewt GWhenseeiler seval BEBID URCsBUMme 2 Mg CFu1ghe

iv. FubSILUL L Guent Gwhemsullesr Guwifled BiIbsy eweuliydh CHTemsml gBLBSHSHISH60

a. 1l B b.i wBmib ii C. iii 1o Bib

d.iv G e. alewL Ozfweaisoensv

Arrange the following Indian Women Olympic Medal Winners in Chronological order

1. Saina Nehwal

2. Lovlina Borgohain

3. Sakshi Malik

4. Karnam Malleswari

a.2,4,1,3 b.1,4,2,3 c.4,1,3 2

d.4,1,2,3 e. Answer not known

@elbllds CuTLiguled LHEHHD OeuadiB LisaublD @bHul WHefeny STeveuflenaliLg (PenBLILIGHHALD
1. engem OpHeuTed

2. eveuelenm QUTTEHTen 60T

3. gmeg Lomelld

4. &iewid 1oeVB6verveu]

a.2,4,1,3 b.1,4,2,3 c.4,1,3,2
d.4,1,2,3 e. el GaMuwealevemev

Palmer index is associated with which of the following natural disaster?

a. Earth quake b. Volcano c. Drought
d. Flood e. Answer not known

ureoor GPUWIG SSTamID @(h BUBmad FBBHCHTH OCHTLT ML WIS
a. PlevpBdsd b. emfloensv c. aupld
d. Geueitemd e. alewL OFflwalevenev

On April 10, 1802, the Great Trignometrical Survey of India Commenced its work from
city.

a. Delhi b. Calcutta c. Bombay

d. Madras e. Answer not known
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11.

12.

13.

14.

AhFHw  (paHCaramaluicd SuUley Hmeuetd eglged 10, 1802 -gub  SLewi(h BSBM60  HeSHI
Suialemerd CFHTL Mg

a. GLevad b. &ev®HHT C. Libumul

d. wsymerd e. alewL OFflwalevenev

Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022 Nobel prize in Chemistry
for?

a. For the development of click chemistry and bioorthongonal chemistry.

b. For discoveries concerning the genomes of extinct hominins and human evolution.

c. For the development of asymmetric organocatalysis.

d. For the development of a method for genome editing

e. Answer not known

&Cymedelr GUTGLmTenS, GomiTLeir GosdLed w@BmId Cufl agmiTdheviTerd SLBGWITT 2022 LD LT (HEBT6T

Gouglulweed e1gpmats Gpmued Lfleng GeusammiT?

a. eld Gawedrm wBpid LW THCHTHme0 GsLblerdl fuller euenT&FeHsTs

b. oufibaiGurer Gamil el ed1eb 61T a1 LOJ IGO0 61T LOBWILD LS urflesormiod umslw
ST BLNQLIL|BHOTHHHTH

C. gw&FIIMB Y THCHIMHTL 60Fenilel ouenT&EHHHTS

d. wyugy engligml (enmulest eleniTFSHenes

e. alemL Gxflwalsvenev

Which one of the following Indicator is not used to calculate Human Development Index
(HDI)?
a. Life Expectancy b. CPI ¢. Education Index

d. Per Capita Income e. Answer not known

Uaieumeusioubpied  6lbd @  GBIaTLly  wweaideaen  Cobur Gs @PuileoLds  seudball
LWETUGSSILIBS 606m60?

a. GUTDBTET &ML SeNa] b, BIBTGTT alensv GHmluih c. seval GPui®

d. selpu eubLomed e. alowL OFflwalsdensv

“Nambikkai Inaiyam (NI)” a Tamil Nadu Government project about

a. Statewide Block chain infrastructure

b. Source of resident data for Tamil Nadu

c. Unified access to e-services of different government departments

d. Providing professional resources and training to decision makers

e. Answer not known

“Nambikkai Inaiyam (NI)” s0pprh ops Sib unsug)

a. wmhev wpupeugid Block chain o et L enioliL

b. sOwET wBETar Guiilend Hye|seler SLEHTID

C. ueBoum SIFFTHISSH HMBH6NeT e-CFenaubEnHHEHTa QHHISMNIHS DIEWIH6D
d. weBILaITEEHSEG CFTHOBIMB aleHBIG6T WBBID LUIBHEm6T CILDHIGH60
e. alewL Gzflualsbenso

Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam aims at
1. Increasing the cultivable area

2. Bringing fallow land under cultivation

3. Changing the crop pattern with introduction of new crops.

4. Augmenting water resources
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15.

16.

17.

18.

a. 1,2 and 3 are correct b. 2, 3 and 4 are correct c.1,2 and 4 are correct

d.1, 2, 3 and 4 are correct e. Answer not known
BHMeVEhTET SIMETSHFH MO Q(HEISenenihdh Geuenment euenTFd H L G (pHSw ChTohasd

1. gm@uy uglimu DIHBMHH CFUIH

2. QFTLAHB Hevhewd FTGHUIQHE OBHTIH 6(HIH6E0

3. ysdw uulireenet SINSPSLILGSHBHINISHET cP6vD LIUTT (LpenBenUl  LOTBNIGEH60

4. BT QYSTIHISMET GILI[HEHESH6D

a. 1, 2 wpmpd 3 sFweneu il b. 2, 3 wBm 4 Fween i
c. 1, 2 oBmib 4 sduwenen &ifl d.1, 2, 3 wBmb 4 syHweneu &
e.

alenL  Gxflwailsvensv

Which among the following is a scheme of Govt. of India for ensuring the safety and dignity of
sanitation workers?
a. Smile b. Namaste c. Amber

d. West e. Answer not known

@bHw  ofer  eteumbd  SHULmSEneT SHiUTe] g mfleomeniTaeaie LTHISTUMLUID  LOFHImLIULD
2 mg OQFweuzkl 61H?

a. eroemLoey b. mwet@s C. &IbuIT

d. Geuerdr e. alewL OFflwelsvency

During which Period Bronze Icons of Nataraja deity with four hands was casted?

a. Chera Period b. Chola Period c. Pandiyas Period

d. Shunga Period e. Answer not known

6b® HTELBL L SHH60 BT6iIF NHBEHL 6 Fnlgul BLITNIM6T OCloucwIBevdF FGIMIMISET GUTTHSLILIL L 6017
a. Gagi smeuld b. Ggmpi &mevld C. LITemNQuiT &meuLD

d. ams &meold e. alewL OFflwalsdensv

Which of the following statements are true in respect of Dr. Muthulakshmi Reddy?
1. She was the first woman in India to get a degree in medicine.

2. She was the first woman Legislator in British India.

3. She was the first female student to be admitted in Maharaja’s college.

4. She was the first woman President of the legislative council.

a.1,2and 3 b.2,3 and 4 c.1,3and 4

d.1,2,3and 4 e. Answer not known
LTSLT. (pSHHI0e0add Glgemull QuTpisHHeaiemy Llaeumd gmBupiseiled 6% o eurenoulmerg?
1. @bFHwraled WHSHHUHHL LLLLD GUBB (WHeo GU6T SLeu.

2. Uflyey @bhFHwreler (pHed FLLIOGH o MILILT6TITeUTT.

3. waMrey Heosumfuled Babhad (PpHed GILIET LOTewIRIUITEUTT.

4. gL goouuwler (pHed OLETT HeMELEUTTEUTT.

a. 1, 2 By 3 b. 2, 3 wByw 4 c. 1, 3 Bpid 4
d. 1, 2, 3 wBpbd 4 e. alewL OFflwalsdensv

The Significance of Tamil Nadu Panchayat Raj (Amendment) Act 2016

Modifications in three-tier system

Constitution of District Planning Committees

Transferred specific functions and powers to Panchayats from the State Government
50 percent reservation for women

Answer not known

P o
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19.

20.

21.

SODBTH UehaTwHsl 1y (FLLHMHSS WwCFTHT) FU LD 201661 HABLILIDFID
PIBBHS (Wemmuled LOmBMUILILL G

wrall L FHLE GHUSHMENT DIMDHHSHI

SR L SIFSTIRISmeT MBIV DTFed(hheHl LiehFTWHBHIHEHSHES OTHBBLILILL S
50 55alds B @HHEB CLMISEDEG OCBTHHBLILL L S

allenL  OFMwealedensv

oan o

Assertion [A]: Human Resources is necessary for the progress of any country.

Reason [R]: Investment in education and health of people can result in a high rate of

returns in the future for a country.

a. Both [A] and [R] are true and [R] explains [A]

b. Both [A] and [R] are true and [R] does not explain [A]

c. [A]is correct and [R] is false

d. [A]is false and [R] is true

e. Answer not known

ammum [Al: ahd @ BT 196 GbLM IBEGD Wallsh auend DihHumeudlwions BHeHHnBa.

smyewid [R]: seval  BHID  1DHHET  BEVSHH® (PHSB OFUINSHET  aleTealTdS (BT Q6T
THTHTVHHD DB D66 LIV BlenL ELb.

. [A] vBpd [R] @yewio gflwmeng wppid [R], [Almeu ealend@ABg.

. [A] wspp [R] @yewiGw sflwmegs [R], [Aloea alensseaisoamev.

c. [A] sfwreng wBmid [R] seupmers

d. [A] seuprerg wBpd [R] gflwrers

e. alemL Gxflwealsdenen

o

Which among the following institutions secured no.l overall rank according to national
institutional ranking framework?

a. IIT, Madras b. IISC, Bangalore c. AIIMS, Delhi

d. IIT, Bombay e. Answer not known

eiteu(pd  Hipieuemiseied oigl CHduwl mmeuesr HJ Sl enwlle Ly @UBOWTISHS HIeauflenguieo
WIS CLBBSI?

a. IIT, Qaeirenest b. IISC, Qumigseemit c. AIIMS, QL e6ve9

d. IIT, @pwenu e. alewL OFflwalsdensv

Which of the following statements are true about Ramalinga Adigal?

i. He started the Samarasa Suddha Sanmarga Satya Sangam in 1865.

ii. He was against caste system

iii. =~ He established Satya Dharma Salai in 1867

a.1i istrue b.1and iii are true c.1,1i and iii are true
d.iand ii are true e. Answer not known

Lelteu(heussieuBmIen @IToedmis SigHeT UBBIL 2 ewienownel Famml 61gl7

1. BIToImIE SlgHell FIOJF &S5 FAIOTTHS FHU FHISHMS 1865-60 SUIDLISSHTT
ii. BIToedmis DI9H6T MTHU (LPDBSHE 6THTTEIEUT

1ii. @IToeimE SigHell 1867-60 FHW SO FTeneveni Bipied e

a.i L (BID 2_ewenouiTerg b.i @b iii o Gb ©_ewieniowiTeig
C.1,11 o@D il 2 _ewIenLOUITEIS) d.i wBpid ii G 2_ewewTeig
e. alewL OFflweaiedensv
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22.

23.

24.

Find incompatible pair in the following;:

a. Pradhaba Mudhaliar Sarithiram - Vedanayagam Pillai
b. Sugunasundhari - Nadesa Sasthiri

c. Kamalambal Sarithiram - Rajam Ayyar

d. Padmavathi Sarithiram - Madhavaiya

e. Answer not known
QUITHHST BNTNUISH BHEWIL155.

a. Ugamu waedwnt gfgbgarn - GougpTsLD LleTener
b. s@ean absi - BOLE amerdgf

C. SLoeUMbLITeT &FMSHaTLD - JTERD  SIUIWLIT

d. uswreus) sfgbHrd - LOIT &HEDEUWLIT

e. alemL OFfluwaisvensv

Choose the correct Kural for the explanation given below:

It is more pleasant to hold the dart that has missed an Elephant than that which has targeted

the hare in the forest.

a. Kaana Muyaleydha Ampinil Yaanai
Pizhaiththavel Endhal Inidu

b. Aakaaru Alavitti Thaayinung Ketillai
Pokaaru Akalaak Katai

c. Kettinum Untor Urudhi Kilagnarai
Neetti Alappadhor Kol

d. Ulluvathi Ellam Uyarvullal Matradhu
Thallinum Thallamai Neerthu

e. Answer not known
SPp&EETanId CUThHEnsG T HmeGBamen GFfle GCFuIs.
FAvlw  sriwmsealGn (wpweaip  Oeump  Gupleuemns el Guifiw
SlmLeougl Fmpliy
a. smer (Ppwlbeouts SibLleNed WITeneot
Heps56a00 ghged Saflsl
b. estm oemelly sTulaim Bsigeienew
CuUTasTm SIH6EOTDH HEML

c. Galyamib o wiGLNT o Mg Heneneheny
Bl SemiIuBsHTT Bsmed

d. o eiEmey GFHeL6VTD © _WITE6TETED LOBBGI
HeleMelb  H6ITeNTENLD [HTHS

e. alewL QFflwalsvensv

Who said these lines to whom?
“Maarivaram koorin mannuyir illai
Mannuyir ellam mannaal Vendhan”.

a. Manimegala deity to Udhayakumaran
b. Sudamadhi to Udhayakumaran

c. Dheevathilagai to Manimegalai

d. Manimegalai to Udhayakumaran

e. Answer not known
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wrfleusld Fapiledt eTeEIUIT B60em6ev

eIl 6TeLeVTLD LoewTerTTelT GCoubSHer — 6lerl WT? WT(hHEG 2 mIHHHl?
a. wenlGsem Gpulad 2 HWEGLTDISE b. agwd o HLGLIMISHE
C. HaudHlovend LaBLEHMmeVHE) d. wenlBGusmev 2 HuIGHTEIHES

e. alewL OFflweaiedensv

25.  Urellam koodi olikka azhuthittu
perinai neekki pinamenru perittu”
Who defined death as a undefiable force?
a. Appar b. Thirumoolar c. Sundarar
d. Manikkavasagar e. Answer not known
“oa1FeL6VMD &nlg @6VHSH SIS (BL
Guflemesr BH&HBI ewid eredim Gl (™
6INF &6y 2 _eNITHBHID HeweowTenld 61BHHIS SnpiweuT WmT?
a. QU b. Smewpeort C. &HbBIT
d. wrenldseurgst e. alowL OFflwalsoensv

26. Nadaakondro! Kadaakondro!
avazhi nallai vazhiya nilanae!
Whose character plays an important role in the shaping of the world Emancipation in

Purananuru?
a. Women (Pendir) b. Men (Aadavar) c. King (Arasar)
d. Priest (Anthanar) e. Answer not known

“BILTOSTSICBT ST TOHTHICBT
Slelalf HeLemev eumhlul mHlevBeor”
GuopsTanid LBHTEOMBOIL UTLed 2 6vsb Cubuml’iyBeg wriedl @uéssHmsd  DQULMLWTHS

FnBIF BB 7
a. Quewngi b. sy _eui C. oa
d. sibsHemt e. el OFfuwalevenev

27.  Which Festival was celebrated throughout Tamilaham during the Sangam Age?

a. Adipporam b. Onam c. Navarathiri
d. Thiruvathirai e. Answer not known

FhS HTELHH 6L SHLOPSLD (PPEUH VD CBTERILTLLILILL  Lawigensd 6157
a. SLQUIJLD b. gewibd C. HaUITHAM

d. Hmeurdeny e. alewL OFflwalevenev

28.  Match the following with List I with List II:

List I List II

A. Thirumurukarrupadai 1. Mudattamakanniyar

B. Porunaratrupadai 2. Nakkirar

C. Sirupanatrupadai 3. Kapilar

D. Kurunji Pattu 4. Nallur Naththathanar
A B C D

a. 1 3 2 4

b. 1 2 4 3

c. 2 1 4 3

d 3 2 1 4
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29.

30.

31.

32.

33.

e. Answer not known
UesteuheusieuBenmll L guisd [-Gmr® uligwed Il-emer’s QuUT(hHSIS.

U lguied I U iguied II
A. FmpmamBuIiLemL 1. (PLSSHTLDE 60016001 LITIT
B. QummprmsmpiiLenL 2. bBEBTT
C. dpumemmbmitiient 3. &LleuiT
D. oflehd um 6 4. BELSITT [ HHHEIIT
A B C D
a. 1 3 2 4
b. 1 2 4 3
C. 2 1 4 3
d. 3 2 1 4
e. alewL OFfuwalsvenev
Find the common ratio for the geometric sequence 0.15, 0.015, 0.0015,...
a. 0.1 b. 0.01 c. 0.001 d.1 e. Answer not known
0.15, 0.015, 0.0015,... eem Qumeeg CsTLT euflmgulsr CUTHIOHFHID STews.
a.0.1 b. 0.01 c. 0.001 d.1 e. alowL OFHflwelsveney
Find the sum of 12 + 22 +... + 192
a. 2500 b. 2400 c. 2470 d. 2570 e. Answer not known
FmBBHL HTewis: 12+ 22+, +192
a. 2500 b. 2400 c. 2470 d. 2570 e. alewL OFfwalevenev
The compound interest on Rs. 16,000 for 9 months at 20% per annum compounded quarterly is
a. Rs. 2,599 b. Rs. 2,572 c.2,522
d. Rs. 2,502 e. Answer not known

20% oo el iguiled STOTERIBSE QUHIPMB Il 19 SISHL LLGD (wenpuled ep. 16,000 -&@ 9
LTSHRIBEHDHE HOLSGWD Gl B UL IQUITETS

a. . 2,599 b. ew. 2,572 C. .2, 522

d. a. 2,502 e. alew  OFflwaledensv

In what time period will Rs. 10,000 earn an interest of Rs. 2,000 at 10% per annum?

a. 2 years b. 5 years c. 6 years

d. 3 years e. Answer not known

SIF60 h. 10,000 g, pewiBbE 10% ey ainpsHed, 1HHM PIBH6MN60 h. 2,000 6l Igenulr]
GUBMIS HHLD?

a. 2 SLeiBabei b. 5 oG C. 6 SLEBIBHDH6N

d. 3 syemHesein e. alewL OFfwalevenev

If the HCF of x# + 3x3 +5x2 + 26x + 56 and x* + 2x3 - 4x2 - x + 28 is x2+ 5x + 7. Then their LCM is
a. (x2+ 2x + 8)(x* + 2x3 - 4x2 - x + 28) b. (x2 + 2x - 8)(x* + 2x3 - 4x2 - x + 28)

C. (2 -2x + 8)(x* + 2x3 - 4x2 - x + 28) d. (x2 - 2x - 8)(x* + 2x3 - 4x2 - x + 28)

e. Answer not known

x4+ 3x3 +5x2 + 26x + 56 wmmid x* + 2x3 - 4x2 - x + 28 a3 LeOIBIILG Cameneuseflesr 5.C0UMT.al. X2
+5x +7 eefled oleumnslent 15.GUIT.LD-65T LDSIL] LG ID.

a. (X2 +2x+8)(xt+2x3-4x2 -x+28)  b. (x2+ 2x - 8)(x* + 2x3 - 4x2 - x + 28)
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34.

35.

36.

C. (x2 - 2x + 8)(x* + 2x3 - 4x2 - x + 28) d. (x2 - 2x - 8)(x* + 2x3 - 4x2 - x + 28)
e. alewL OFflweaisdensv

Which one of the following is a pair of co-primes?

a. (16, 62) b. (18, 25) c. (21, 35)

d. (23, 92) e. Answer not known

LeteuheuetouBmien 6ibd @b Comg eTawibe STLIST 616167

a. (16, 62) b. (18, 25) c. (21, 35)

d. (23, 92) e. alewL OFHMweailsvensv

Assertion [A]: The New Educational Policy (NEP) envisages a complete overhaul
of teaching - Learning process from the traditional teacher -
centered to learner centric approach.

Reason [R]: NEP ensures that holistic development of students by accentuating

their creative potential.

[A] is true but [R] is false

[A] is false, [R] is true

Both [A] and [R] are true; and [R] is the correct explanation of [A]

Both [A] and [R] are true but [R] is not the correct explanation of [A]

. Answer not known

&BE [A]l:  sBUsse0 - sBmed  GFweowepuie  (pupemwwimer  WBIFTeLINBSTS,  yBHw
Hovals0sTeTensd,  umgbufw  offlwiT  edwwiores Smbhs BB,  SmLeuler
MW DG (LPDBULITE 2 (HEUTH IBS.

smyewid [R]: ydw 0N QameiTenauilen LOITGBOT6UIT B 61T 63T OB T6UH Ben6nt o WiteHa
SIGUTHAT6T (LPIPEMIDWITET cueNTFFlenl o mig GFuigHev.

a. [A] eeiug aM spemmed [R] etesiug seum

b. [A] eeug sHeum, oyemed [R] ereiug &l

c. [A] wBpid [R] Bwen ByewiGo afl wBmid [R] eemg [A] uler aflwresr elendeib.

d. [A] wBpd [R] Bmen Byewiid &f eyemed [R] ereiug [A] uler gflwmer alendsioeen

e. alemL Gxflwealsvenev

oo

Indian economy is marked by the existence of

1. Low per capita income

ii. High proportion of the working population is engaged in industries
iii.  Improving rate of capital formation

iv.  Problems in the employment

a.iand ii are correct b. i and iii are correct c. ii and iii are correct
c. ii and iv are correct e. Answer not known

BAHHW QUTHTTHTID E&H6 clpevld GNISSLILBSBSI

1. GMMBHSH H6OT  AU(HLOTEILD

ii. 2 _MPHGID HEHT FHD aldBHHHe0 OFHTHBFTMeLH6M FHLL (HelTermenio
1ii. GUBSHILILIL L cLpeHeT 2 (HauTdhd aldlFHLd

1v. Bouemev UTUIILTED FlbBHE0LBH6IT

a. I wmpib ii sflwmerenel b.i wBmib iii FHwTeTENeM

c.il @b iii sfwrerene d.ii wmmib iv sflwreriene

e. alewL OFflweaiedensv
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37.  Jawaharlal Nehru wrote in 1961 ‘India as a secular state honours all faiths equally and gives
them equal opportunities’. S. Radhakrishnan as President of India too expressed “When India is
said to be secular state, it does not mean that we as a people reject the reality of an unseen spirit
or the relevance of religions to life or that we exalt irreligion. It does not mean that secularism
itself becomes a positive religion or that the state assumes divine prerogatives’.

Which one of the following is best implied in the passage?

a. Indian secularism is a religious, irreligious or antireligious

b. Indian secularism is perfectly compatible with religiosity

c. Indian secularism does not recognise the importance of religion in the public space

d. Indian secularism is not required to give each religion equal consideration

e. Answer not known

@HHWT @h HFFTTUBB BTH, DMOISHSH LDSHHISHMEIU|D FOWTS LOHSHBSH LOBHBILD  SIEUTHEHDHE)
g0 UTUINLSMET  eUPRIGEDBSHI 6l 196160 GB@p  erpHT. Sens BbhHwrale emgHugsuires
BmHHS JTTHTH(Hagewien “LodEHenTawl BT Heauiamdbd 0Hwngd oelulear WHTTHHmSCWT Die060S
AUMDHMEHDHE LHMmG6MNer QUTHHSHHMSOWT BHIITsNSHECBID, SeVevd WWHHMmSH 2 WTSHHISHEBILD,
aIml OITSHSH6e06v SHFFTTmMLCW @h CHwenBUWITEr LSHOTS WIBIBBSH DIGLVSH DJdF OFHUiais
o fewsamen gBBISECHTHTHBH TSIBI DITHHD Bedenev” 6Bl OleuerllLI(B &5 e,

Ueleu(heussioumpilev e1ghl fpliuns ushdluied @Gt Liu’ (Beteng?

@bFHw HFFTTIGMD 6lTUSH @H LOFH LHFFTTUBB DIGLVSHI DSHSHHMBE THTTISHI

@bFHw HFFTTIGIND DHUTHHSHIL 63T (LPMOWITS @HSHILICUTSBSH

@b waFsTTidaimn GuTs GQauefuled WHHHer (WSS WHDHHMS DhSHTSHHa]606m60

AW HFFTTIGIMD eleILHI @6l0UT[H WHHMSUID FOWTSS HHSH Couewigoul Dieudluidle0ensv

allenL Gz flwealsvenev

o an o

38.  Which of the following statement(s) correct about Madras Native Association?
i The first political organization started in India
ii. The Madras Native Association began to function on 1852
iii. =~ The founder of the Madras Native Association was G. Lakshminarasu Chetty
iv.  The leader of the Madras Native Association was Anandha Charlu
a. iii only b. iand ii only ¢.ii and iii only
d.ii and iv only e. Answer not known
BbHem  uTHBHwmsefed Ol gred GhLigel oCsFTdBueagst uBPw  Filwmer  uTSHHWIRISMm6NTS
BabOSHBHBLD.
1. @hawraled IbISSIULL (WHeoTeugH DTFuled Fihs DlenloliL
1. @z 185210 SeWwih (PHO OQFWeOLIL OFHTL RIS WS
iii. G gmerd CrLiigel SHIBFTACWageNaT BmleuenT 29.00030BIsH Gagl lg
iv. Qi gmerd CrLigen SIBFTFCWeeNe HemevauT DIDIHHTEF FTTa)
a. (iii) i @w b. (i) wBpd (ii) LG
c. (ii) w@mib (iii) G d. (ii) wBp (iv) wiGb
e. alewL OFflwaisvensv

39.  The tropical cyclone winds blow into the Northern Hemisphere in direction.
a. Clockwise b. Straight c. Anticlockwise
d. Circular e. Answer not known
AULEHG SmIHCaHTeNSHHe0 gBUB euafewiev Guevbs@ FEMBFS 6lhdh HmaFuled STHBMI SPEVID
a. HYHMTEF &M b. Gryns C. aIFHTHYHTTF HBBI
d. eulLioms e. alewL OFflwalsdensv
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40. In which annual sessions of the Indian National Congress made the historic ‘Purna Swaraj’

declaration?

a. 1907 Surat b. 1920 Nagpur c. 1929 Lahore

d. 1940 Karachi e. Answer not known

Ahdw CxrHw sthSFed 6hdh Lewih SiwTaled eugeomBml FAMLYOSES ‘LUiTew SFWITe]’ 9infldameml
Geueflui L g

a. 1907 &5 b. 1920 BT C. 1929 eunamit

d. 1940 syrsd e. alewL OFHflwelsveneo

41.  Who was selected as the President of Council of Action, which was constituted by Tamil Nadu
Congress Committee to execute the Civil Disobedience in 19307?
a. C. Rajagopalachari b. S. Sathyamurthi
c. T.S.S. Rajan d. T. Prakasam
e. Answer not known
19308ul0 oW SUIDHETH STRSFaD  SULIQUITED FLLIEBINL] BuUbssHmer BLHH CFWLBEGLS
HmeoalITasdh CHThOSHBHSLILIL L auT  wmT?
a. C. @ymeGasmumeorgamilwimit b.S. g&dwepitsha
c. T.S.S. ®ymeges d. T. dysnen

e. alewL Gaflwealevenso

42.  Assignment of ecological or biological significance of a contaminant’s effect based primarily on
statements of statistical significance but contrary to biological probability
a. Malthusian theory b. Median effective concentration
c. Maulstick incongruity d. Maximum likelihood estimation

e. Answer not known

o ulflwed MmabssadbE WIBTS, (PHSMWLWTES LeTellalleu] (Pe&SlwsHHludHar  Dpfidbamasamen
Sl Wmed BTl 6@  T&HUTL g  aflewenalledl  S&BMIFGHL0  Slevevdl 2 ulifluied
WESUSBUSDS PBISEH6

a. wreogrdlwer Gsmum® b. ggmafl uweeTen GFpey

C. LOTeL6VIS ELIT(HSHSHLOGTENLD d. 9su’s snsHwubamnp AT

e. alemL G fwailsvenso

43.  Which of the following statements is true about human races?

i. The races is a group of people with more or less permanent distinguishing characteristics

ii. Human races are classified in 7 blood groups

iii. The races are identified and classified based on skin colour, stature, shape of head, face,
nose, eye, type of hair and blood group

a.iand iii only b.iand ii only c.ionly

d. ii and iii only e. answer not known

Lelleu(hld Fn@BmIdeiev eTemeu Lellsh @emigsenenll UBpiw Fflwmer FnBpiset?

1. BSTRIBH6T GG DHBLOTHCUT HIeL6VH GMBUTHEUT BIIHST H6M HBHIAULDTET  LIGTITL|SHm6TT
CBTemiL Q(H GSLUTGLD.

1. wellsd Bemiser 7 OJs5s eumassents Liflesliul Betere

1ii. GxpTedlelr BB, 2 wig, SHMeoUNeT eUgaID, (PSLD, (PpSHE, S, (PIg Umd WLHBEBID BTHP
QUMD S P weumBles SligliLienL_uiled B TRIBH6NT SIEL_WITELD 3 (e (WINTC
UMBLILIBSHSLILIBH S TB6IT.

a.i wBmib iii o’ Gib b.i wBmid ii w’ Gib

c.i ' B d.ii wmmid iii 1w’ G
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e. alemL O flwailsvenso

44.  Arrange in chronological order

1. Nehru Report 2. Poona Pact

3. Simon Commission 4. Cripps Mission

a.1,2,3,4 b.3,2,4,1 c.3,1,24
d.2,1,4,3 e. Answer not known

sTeveuflengILBHSHIB

1. CGrm oMsHma 2. yenm @ULbFHLD

3. W6 G(1D 4. Fiflled Gup

a.1,2,3,4 b.3,2,4,1 c.3,1,24
d.2,1,4,3 e. alew Oz Muwealsiensv

45.  Which one of the following is not correctly matched?

a. Arif Qandhari - Tariki-i-Akbari

b. Nizamuddhin Ahmad - Tabaqat-i-Akhari

c¢. Abdul Qadir Badaoni - Muntakhab-ut-Tawarikh
d. Muhammad Khan - Khulasat Tawarikh

e. Answer not known
SLDeV(HeUGTUBBIET 6Teme HAUBTS  EenemTdhHLILIL (H6iTermen ?

a. oyfit GHomfl - Ffld-8-oisLf
b. Barpdear s - BHUBGH-B-DIEUIM
C. SIUGHID HTHT LOGHemel - (WPhHeLI-2 L -Heuiild
d. sz Smes - GTFSH Heumis
e. alemL Gxflwealsvenev

46.  The Stupa at Amaravati is a best example of what?
a. Nagara style of architecture b. Vesara style of architecture
c. Mughal Architecture d. Dravidian architecture
e. Answer not known
SlogTeuguievieien eOHMI ISBHF FBbHD TBHBHISST_(H?
a. BIJLIUTENS HLIgL &HeN6V b. Gaugyiiumenie s 1L Sasemev
C. (PHEVTWSH HLIQL HFHEN6V d. Syrelé &L 19l HHamen
e. alemL Gafwealedenso

47.  Choose the right matches among the type

1. Vedantins - Brahma

2. Naiyayikas - Arhat

3. Jaina - Creater

4. Mimansaks - Karma

a.1 and 4 are correct b. 1 and 2 are correct
c. 2 and 3 are correct d. 3 and 4 are correct

e. answer not known
CaTBHBILL L aTeuBmlen Fhwmer QUThHHRISM6Nd CHTHOSHBHBMLD

1. Geugmpbdsel - Uyibom

2. enpwimuilser - SlTams

3. 66T - LIeWL_LILIT6TT
4. 10ombFsT - ST
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48.

49.

50.

a. 1 1oBmib 4 gfwmetene b. 1 wipd 2 sfwraene
C. 2 wmmd 3 Fflwmereney d. 3 wBmpb 4 FHwTeTmel
e. alemL O flwailsvenso

Consider the following statement and find the incorrect answer:

1. The constitution imposes limits to President to give assent to the bill passed by the state
legislature

2. The President may refer a reserved bill to the Supreme Court, under Article 143 for
discussion.

3. The power of the President assent to the bill passed by the State Legislature and Parliament
are the same

4. The President cannot kepp a bill of the Parliament pending at his hands for an indefinite
period of time

a. 1 and 4 only incorrect b. 1 and 3 only incorrect

c. 2 and 3 only incorrect d. 3 and 4 only incorrect

e. Answer not known

BDHHENIL FnBBISHEM6NSH SHHSHAD SHEUBTEI FaB3MIHEN6ND SH6wTL 36D

1. slLwapnd QuBspsw  1CsTHTSGD  GYUWIsS  HMeVaUT  HAl@IMLU  BenFmeld S
SIrlwevemniolIF FULLD QT 61606D60MWI  6U60IU|BISHSUL6TTeNS)

2. sl e muiy 143e1 &S GLWIS  SHmeveuT HBISH = mausHhHEGWL  wFTHT LB
o FFHISBHILLD LG0T HBH60MLD

3. UTPTEBOBIBLD OBWID FLL  WepmiseT SQubplw 1weFTHTEHH6 g GWwrds HemeveT Gy
wrgflwmer SIHETMIHemdH CBTewIgHIHSMITT

4. ungrepwesl GQupplw WCFTEHT g GLRWI&E SHMeValT, &TeL eumTWamBUilans @LILIEH60 SHITLO6D
DUSB (hbS (LPIQUITSI

a. 1 wpmid 4 w' GO SHeuml b. 1 wBmd 3 W GED Heusi

2 Bpitb 3 wLBL SHeup d. 3 wBBID 4 W EDL Seusl

e. alewL O fwailsvenso

n

Which of the following statement is/are correct?

1. The universal declaration of human rights was adopted on 1948
2. Article 10 says that all human beings are born free

3. UDHR has altogether 32 articles.

4. UDHR was adopted by United Nations General Assembly
a.1,2,3and 4 b.1,2and 3 c.1and 4
d.1,2and 4 e. answer not known

&6 CBTBSHLILL [Beiten 61 / etemeu gflwimeg)?

uetenml (B welg 2 MenseT LFsLalLGSSIULL SieniG 1948

1.

2. alg 1061 U &IHTHET DIEHTUHD SHSHHATOTSHL LIBHSHeUTH6N

3. uaieImL( wels o MenwseT LIFsLeld OrsHsh 32 alglsmend OHTemHL g

4. e mprGsefler GuTgIFFamu U G weald o flewseT LITsLaishmsd gBnIbOSTesIL Sl
a. 1, 2, 3 wmmb 4 b. 1, 2 wBpd 3 c. 1 wBmid 4

d. 1, 2 wBpd 4 e. alewL OFflwalsdensv

Which of the following is incorrectly matched?

1. Article 361 - The President enjoys protection from criminal proceedings
against him in court of law
2. Article 352 - National emergency
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3. Article 356 - President Rule in State

4. Article 360 - Finance commission

a.1only b. 3 only c.1,2 and 3 only

d. 4 only e. Answer not known

SLDAU(HeUGTOUBMIGT 61&H SHUBTE CUTHSHSLILIL (HelTerg?

1. arsa 361 - BIHABSHHE0 GQUITEHS SHMEVaUHHE 6CIHITEl GBBAIULIGD [BL 6UIGSHENSHH660
B mbHEH UTSHISTLIDUL QBB BT

2. agrss 352 - Bxpdlw OBHEHYSHTEL LITHL 6D

3. agrs& 356 - MBS0 GQWTFSHBHMeVUT i &

4. a916H3 360 - HE SLemeTULILD

a. 1 L (B b. 3 w @ c. 1, 2 wBmub 3 1wl (b

d. 4 w @ e. alewL Oz Muwalsdensv

51.  Match the following constitutional articles related to Chief Minister of a State:
Subject Matter Article No
A. Council of Ministers to aid and advice the Governor 1.164
B. Other provisions as to Ministers 2.166
C. Conduct of business of the Government of a state 3.167
D. Duties of Chief Minister with Respect to furnishing
of information to Governor etc. 4.163
A B C D
1 3 2
2 4 1
3 2 1
4 1 2
Answer not known
LOTHI6Y (LPHEVMDEFFT OFHTLTLITE SPSHETEMID HIFFmIOLIL] allFlBementl OLM(HEHHIS.
QuIT(HeIT SIIFMIOLIL| g 616061
A. oenbheE 2 el BEID
D CeoTFmen FmBID HMEFFT G (LD 1. 164
B. siomw&aiset OaTLTUTer LB DIDSFHIGH6IT 2. 166
C. wrplev SIrsThIsSHH6eT SIgVIeUem6D [BL HSISH60 3.167
D. wmhlev Suenbhd&sH HBausd OxHfaldhshsd
2 aTefllL (pgHevenoFailelr Liewisel 4. 163

W B W

a
b.
C.
d
e

A B D

3
4
2

N = =N A
W W

1
alemL Gz fwealsvenev

© oo o
=~ W N -

52.  Consider the statement of the Judicial power of the Governors of the States.
Choose the correct answer from the option given below:

Assertion (A): The power of granting pardon under article 161 is very wide and do not
contain any limitation.
Reason (R): Judicial review is possible, when he/she on the ground of non -

application of mind and non - consideration of relevant material and

15 | Page Ph: 044-24339436, 42867555, 9840226187




53.

54.

55.

suffers from arbitrariness.

(A) is true (R) is false

(R) is true (A) is false

Both (A) and (R) are true: but (R)is not correct explanation of (A)

Both (A) and (R) are true: (R)is the correct explanation of (A)

. Answer not known

TRV SLEHEMNET “HHIEHE DAHSMD” GSPHBIS HDEHHMIL FBdBDH H(HSDIS.

alpliug Gafalsd @mba Fllwmear alemLmuid CHThoHHHHMLD.

HlewiL(A): wetelliy SeMe@GD DHSMD, 161 eug FL o piniear &Sp Wseayb alfleureigs. i
6lbFH 616VMEVENILILD O\BTERIY(HEHBHENEOENEV.

amyenid (R): @euBenm/ oeuBym  omflever Bl OQFasd owmungd Gumupsid, o Ml HbusTe
S16)6MIHIGHEENLI ufFel e CUITIYSHILD DIGHHIEBID I (L DTIEGE))
S UL hHEGWD QUTEH BHUUITUIR] 6TILSI FTHSHWLLDTETIHTEGLD.

o an o

a. (A sf (R) seaumi

b. (R) afl (A) sam

c. (A ab Reyp gf syemmed (R)etasiugy (A) aydb@&Hd Fflwmer alenedsonsmg)
d. (A) oppid (R) yewign oM. (R) eaug (A) &&F Fiwner alendbsongL.
e. alemL Ogfwalsdenev

Quantum nature of light is not supported by the phenomenon of

a. Compton effect b. Photoelectric effect

c. Emission and Absorption Spectrum d. Interference of light waves

e. Answer not known

@efuflell GeuTewiLLD GCETeTeNd SLDSHBTERILIIBHIOT 61HHMmBU allenenenal ailenosrd?
a. SMbLem afllenerey b. geflider alemenay

C. 2 101pe| HIBLOTmeL LOBEID 2 L &H6UT HIBLOTEN6D

d. gof omeselear GuIGES .G alamena]

e. alewL G fwailsvenso

LPG is a mixture of

a. Cs Hip + CsHe b. C4H 10+C 3H 8 c. CoH4+CoH»
d. CoHs + CHy e. Answer not known
LPG (gemiwwied emfleumuy) eresLig SHELEMAULITEHLD.
a. Ce Hi2 + C6Hs b. C4H 10+C3H s c. CoH4+CoH 2
d. CHs + CHy e. el GaMuwalevemev
Match the List I with List II

ListI List IT

(Hydrated Salt) (Uses)

a. FeSOs. 7H 20 1. Textile Industry
b. NaCO3.10H 0 2. Laboratory Reagent
c. CuSO4.5H20 3. Making of Mohr’s Salt
d. ZnSO4.7H 20 4. Fungicide
e. BaCl>.2H 0O 5. Manufacture of Glass

A B C D E
a. 5 3 4 1 2
b. 4 5 3 1 2
C. 3 5 4 1 2
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d. 5 3 1 3 2

e. Answer not known
utwed I eow ulpuwed II o et QUTHSSHIS.
U iguied I U iguied II
(mCypslw o _1y) (LWIGHTEB6IT)
a. FeSOs. 7H 20 1. mayefls Gzmed
b. Na2CO3.10H 20 2. QUIIBEH HTTewT
c. CuSO4.5H0 3. Gurierd 2 g Hwmidse0
d. ZnSO4.7H 20 4. yehwgd OQBTE0
e. BaCly.2H O 5. sewuienimy Swimflgse0
A B C D E
a. 5 3 4 1 2
b. 4 5 3 1 2
C. 3 5 4 1 2
d. 5 3 1 3 2
e. alenL  Ggfwalsvenev
56.  Match the organism correctly with their corresponding order:
a. Apis 1. Haplotaxid
b. Leech 2. Cyclophyllidea
c. Earthworm 3. Hirudinea
d. Taenia 4. Hymenoptera
A B C D
a 1 2 3 4
b. 2 4 3 1
C. 3 2 4 1
d 4 3 1 2
e Answer not known
o2 ulflendhensd SeuBpler OHTLTML W  auflenguj el Ffwmsll QUTHSHSHa D
a. Capef 1. amTGsomLT&emngiQuiT
b. o e 2. maHGer. . Ne06ediguim
C. LDGUTL(LD 3. anslpigeafiwim
d. mrmye 4. e»aLoGerTLIGL [T
A B C D
a. 1 2 3 4
b. 2 4 3 1
C. 3 2 4 1
d. 4 3 1 2
e. allenwL  OFfwealedensv

57.  Operation London Bridge is the

Funeral Plan for Queen Elizabeth II

Process of selecting the Prime Minister of UK
Joint Military exercises of NATO countries
Evacuations due to Russia - Ukraine War
Answer not known

oo o
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58.

59.

60.

18 | Page

6UGNITL 6T LITGULD [hL6UIQE6NEH GT6IILIGI

o&MTel @JewiLmb 61elFOuSHHeT DmIF 2aiTeue0 H&HLD6 6N
UK Uy whdilenw BHihosBrUSBSTen GlFuIso(Lpens
NATO migseie gl G Syremien Lulmd

gagdw — o demger Gumflesr Gumg GeuelGuimmBed

alenL  GxMwealsvenev.

oo o

Which of the following is / are true about Doppler effect?
1. Doppler effect in light in symmetric

2. Doppler effect in sound is symmetric

3. Doppler effect in light is asymmetric

4. Doppler effect in sound is asymmetric

a.1and 2 are correct b.1 and 4 are correct

c. 3 and 4 are correct d. 2 and 3 are correct

e. Answer not known

LmlenT elleneneneull QUT(HHH SOSHSTEMID FnBHBISEH6T cleneu Fiflwimereneu?
@efulled LrlenT alenene) FLOFFTTEIH

@6llwed LmlenT alenene] FL&FFTTeid

@efulled LrlenT alenene) FLOFFTTISI

@alulled LmenT alenerne) SFOFSTBMBSI

1 oBpid 2 sfwrereney b. 1 wBpb 4 sfwreremeu

3 oBmib 4 sflwmeteneu d. 2 wBpb 3 FAwTeeDe

allenL  Gxfluwailsoensv

CHRCIE A e

The government has initiated the following key aspects for facilitating the MSME sector:
i. Access to credit ii. Access to market

iii. Technology upgradation iv. Social security for MSME sector employers

Select the correct option.

a.iand ii only b. i, ii and iii only

d. i,ii, iii and iv e. Answer not known
MSME it gievpenit 616flHTHGHMBBE DTFTRISLD LIGUBD (PHH U DIDFRISM6Nd CHTL HBIS LTS,
1. BLGIT ©IE)IBH60 . Fhesd DIEMIH6D

. Oxmped mILL GbUBSHSHIH60

iv. MSME @61 gienm oompfuiteendanet Fepsll LTSS
GBuibsmen LwebBHS Fflwmer alenLulenerd HTemm.
a.i wmpd ii B b.i,ii wmmpb ({ii) i Gib

d. i, ii, iii wByD iv e. aloL s Mwealsvamev.

c.ii and iv only

c. 1i @Bmib iv WL B

Match the following and select the correct answer.

A. Nayak Committee 1. Unorganised sector

B. Tarapore Committee 2. Centre state relations

C. Rajamannar Committee 3. Availability of Credit to SSI

D. Arjun Sen Gupta Committee 4. Capital account Convertibility
A B C D

a. 4 3 2 1
b. 1 2 4 3
C. 3 4 2 1
d. 3 2 1 4
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61.

62.

e. Answer not known
SpeumUeTauBems  CumhHE Fflwmer alemLmwsd BpiTey GFUIs.

A. pTws G 1. Slewly T SHienm
B. smymyit @ 2. HHW — WIHev OHTLITL
C. BTt &1 3. Al sleey OBHTHBFTMEVHEHDHE HL 6T HewL LILIGI
D. soitegrenn Gaer GUST G 4. PEUBHET HEWIhE LOTBMIS Hmedr
A B C D
a 4 3 2 1
b. 1 2 4 3
C. 3 4 2 1
d 3 2 1 4
e allenL g flwialevensv.

Which one of the statements is correct for Li-ion batteries?

While the battery is discharging, the anode releases lithium ion to the cathode

While the battery is discharging, the cathode releases lithium ion to the anode.

While the battery is charging, the anode releases lithium ion to the cathode

While the battery is charging the cathode doesn’t releases lithium ion to the anode

Answer not known

i — guel CulLMsendd/ 0aIBeaaEnHE Liaemh gaaBnpidaic o Ffumers?

a. GuiLf Weeipssd SewLwburg Li oweiser oGameelmha Cs585HTHEHE
GeueMuiLLILGEBSI.

b. GuiiLfl eaipssd SenLubBurg Li- oueiser Cssi8smeelmbal oLBaTmoBE
GeueMuiL LG BSI.

c. Guiom WSIGampd  oewLwburgl, Li-  guweilset  oGamgedmha  CaxiH8hmBEHE
GeueMuiL LG BSI.

d. GuiLf WesGammid SewLupdBurgl, Li- oweiser Cssh85meedmha uBamgmE
GeueMuiL LB eugsle0eme6v.

e. alemL Gxflwalsvenev.

e o

The Beneficiaries of Moovalur Ramamirtham scheme are

a. All primary school students

b. Girls Students who are studying from 1t to 5t Std.

c. Girls students who are studying from 6th to 12th in government schools

d. Girls students of first generation in schools alone

e. Answer not known

CLOQUGTT @TTOTO(HFSLD SHIDenWITT Heval 2 HalHoHTens LB SHSHHUWITET LILIGTT6MH6IT
a. SIMATHH SLIDLLILIGTET  LOTewTeUTH6I

b. 1 wmed 5 b au@lieueny LUTGID LDTERTGNULIT

C. 6 PpHeL 12 b LY euedy HUOIPS &L UeTefseflsd Lulem Gembul L eu@ly euedy Luleoid
LOmeuoTeIULIT

d. uetefdaeval LUIID (LPHEL HENEV(LPENM LOTEIANUWIT oL (BLD

e. alemL Oz flwailsvensv.
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Which among the following statements is / are best explaining the objective of “Ennum

Ezhuthum Scheme?”

L. The scheme is launched to help the children make up the loss of learning due to corono
pandemic.

II. The scheme is launched with the purpose of education for all.

III.  The scheme is launched with noble objective of fastening equality in society.

IV.  The scheme is launched with the aim that all children below 8 years of age should be
able to read. Write and know numerals by 2025.

a.lonly
d.Iand IV only

b. I, I and III only
e. Answer not known

c. I and IV only

“eTewiamIlD 61(RSHHID” H LS Chrdsmibenet Llaeumd FmBpiseled g Fpluns alend@angs?

L OEE 0

CUHHOSTBBI STVSHFH60  gmuL L HBB60L

GepuTGsemen  FRGFUIWL

GLHMBBEHHEG 2 HAD UENINID BSHHI LD QHTLMISLILILL FI.
II. SIMATUHESGD H6val 6168 CHTHHHBIL 6T BHH LD CHTLBISILLL .
I1I. FISHII FpBHMSH eeNTeHGD o wilw Chréasled @HHI LD CHTLRSIULL .

IV. 2025 b SYeWIeB@GHeT 8 UWSHISGLLULL DAHD GLHMDBEHLD 6I(DSH UIgHS  LOBMID
eT6e0IBmeT  DIBIHHEUTH6NTS LOTBHBINSI 6B CHTHEHBHIL 66T DHHI LD CHTLRISLILLL GI.

a.l @G
d. T wpmo IV @b

Match the following:
Health Programmes
A. Tamil Nadu Health System
Reform Program
B. Tamil Nadu Health System
Project
C. Chief Minister’s
Comprehensive Health
Insurance Scheme
D. Tamil Nadu Urban Health
Care Project.

A B C D
a. 4 3 1 2
b. 2 4 1 3
C. 4 1 2 3
d. 3 2 4 1
e. Answer not known
SIPHBTEILIBENBL  CUT([HEHHISH:

SHTHTSH FHL L MIbe6l

A. SODBTG FHTHTT SIenLOLIL]
ISl Lemolish L LD

B. s0BTG SFSTHT) SienioliLs
)

C. wapevemwgaier alfleurer s B

S LD

D. s10bp1h Bay SFSTHMES S LD

A B C D

b. LII wmpid I w’ G
e. alewL OFflweailsdenso

c. IT wpmpb IV 1o B

Aims/Goals

1. To provide modern and
sophisticated health care facility for poor
s To improve the health outcomes
of urban poor

3. To improve the health of lower
Socio - economic groups

4. To achieve SDG - 3

&N HCHT6TH6NT

1. BT LOBWID © UWITSHT SHSTHTT
AUFHBMET JMIPBHEHEG lelbd
2. BB eemipseriet BITHSHUISHm

2 WS
3. Fepsd — QUTHENMTHTT IBHEHS 60

&8 o _senauTdeiesr CITHHULGHMS 2 WiTHSH
4. SDG 3 — &3 LW
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66.

a. 4 3 1 2

b. 2 4 1 3

C. 4 1 2 3

d. 3 2 4 1

e. allenL  Ggfwalsdenev

Assertion (A): Indian Government has taken up economic programmes for benefit of SCs
and STs.

Reason (R) : Provided small loans for the poorer section to help them to earn money

through some secondary sources such as toy - making, basket making,
agarbatti and beedi - rolling, tailoring, shoe - making etc.
a. Ais True but R is false
b. Both A and R are true, and R is the correct explanation of A
c. A is false R is true
d. Both A and R are true, but R is not the correct explanation of A
e. Answer not known
&Bm A DHHW DITFTRISD QUTHENTSIILD &ilhS S L mISmend STDSHSUILIL L
LOBBID LOMEVEUTLD @6 DSHS6IT LIWGTOLBID auemauled OFwWeOLBHBHISBSHI.
smyenid R @ Qumbend GFUIHED, 6Dl (PMLSH6D, DIBTUSHS LB LTy SHBBISH6,
SHlewlls  mBUIVBLD,  &Tevenll HWMhHHe0 Cureis Fpy  OFHTHeOBEHSGHD — HL 6ot
CBTHLILSHET CLPEOLD GJ6DLD LD&ESH6IT Hienew UIHLTAID (UB SIFs 2 Hal OCFUISBSHI
a. Fpm A gfl spemmed sMgewid R seum)
b. FBm A oppd smyeoid R @rewiGd gfl smgenid R gpmm A dater gflwimer

alleN&HLOTGLD.

C. FBm A seup sryewid R gl

d. FBm A opp smyed R @resibid fl srgenid R g@ml wdsrer ghuimet
a6 8L0606V.

e. allenL  Ggflweaisvensv.

Choose the correct matches

1.Art 371 - Provision with respect to the states of Maharashtra and Gujarat
2. Art371 A - Provision with respect to the state of Nagaland

3.Art371 D - Provision with respect to the state of Andhra Pradesh

4 Art371 H - Provision with respect to the state of Tamil Nadu

a. 2 and 4 are correct b. 2,3 and 4 are correct

c. 1 and 4 are correct d. 1,2 and 3 are correct

e. Answer not known
FULID QamLiurer gflwmer QuUThSHSHIBmen BiTey GFuiwieLD.

1. alg 371 - LOABTITARQTLD LOBBID GHPIITSH LOMTHI6ORIBET OHTLTLITEIS]
2. algd 371 A - BTSHTEVHSI LOTHIEVD CGTLTUTETSH

3. elg 371 D - abHTITCHF eV OHTLTUTEISHI

4. alg 371 H - SWOIDHTH  OTHeVD CGHTLTUTETS)

a. 2 1oBmib 4 gfwmetene b. 2,3 wBp 4 Filwreieme

c. 1 wmmd 4 gflwmereneu d. 1, 2 wBmid 3 sfwneienel

e. alemL Oz flwailsvensv.

21 | Page Ph: 044-24339436, 42867555, 9840226187




67.

68.

69.

70.

The objectives of the District Mental Health Programme are
1. To provide mental health services including prevention, promotion and long term
care at District health care delivery system
2. To augment institutional capacity in terms of infrastructure, equipment and
Human resource for mental health care
3. Facilitating the mental health services at doorstep
4. To promote community awareness and participation in the delivery of mental health

services.
a.1,2,3 only b. 2, 3,4 only c.1,2,4 only
d. 1,3, 4 only e. Answer not known

Tl L O&AHEVE S L SHH 6 GHMISHGHT6ITH6MTeI6

1. wreu' L &&rHmIl urgismiy alpCwns Semwliisd HGELY, uHel o uifey LOBHID HewL
&Tev ugmofliiy o e6mefil L weheodF CaFeneudemen ULDHIGSH60

2. eBeLll  LUTHISTULSSTRI © 6THL LML 2 LISJeuimhi&el LoBmpID eldh  euemd  Spdluleumnses
SlgliuenLuied Bpieuer gHmener oiFH &S0

3. aiBCaHTHID wenpev CFemeusenen 6161MSHTEHEGHSH60

4. s alfilemrTene omdHGHalshsHe0 WBBID LaMHe0 HHTHTT CFameusamen alpmHIGaHe0 LRIGHBMBEL
a. 1, 2, 3 ' @ b. 2, 3, 4 ' @ c. 1,2, 4 w @B

d. 1, 3, 4 w' @Gw e. alewL OaMuaisoenev.

Which chapter in Thirukkural reflects the Northern Scholar’s ideology of philosophical
knowledge?

a. Not Killing b. Instability c. Renunciation

d. Understanding the truth e. Answer not known

QUL BIeOTH& ‘HHHIEHTRID’ 6IGIMID HHHMSH (WHTDNBISHHID H(HHGBEN6T DIHBTIHMSHDH HEwILSI5H.
a. OBmTeLEVTENLD b. Beweouwirentp C. ZIBeY

d. Gwul o ewiTgHed e. alewL OFflwalsdenev.

Which of the following titles are related with Pandyas?

i) Minavar ii) Villavar iif) Kudavar iv) = Panchavar

a. i only b. ii only ¢.i and iv only

d. ii and iii only e. Answer not known

LNeiTeu(hd LIL L MIG6M6d LITERNQUI LDGITETEH@OBL 60T OIHTL DL WG 6157

i) LSe0T6UlT ii) al606V6UIT iii) GLauT iv) LIgh& 6T
a. i w’ B b. ii wl @G C. 1 wBmub iv wl Hb

d. i wpmyw iii w G e. allewL Oz Muialsdemsv.

Which of these actions cannot lead to Truth - Consciousness?
a. Porul Allavatrai Porul Endru Unarthal

b. Saarbu Unarndhu Saarbu Keda Ozhugal

c. Aiyathin Neengi Thelithal

d. Sirappu enum semporul Kaanpadhu

e. Answer not known

SDHHTEHILIUBMBIGT 61H OLOUILETTHeVIHHTR CFweOLTH Eevenev?
QUT(HET DIELEVAIMBMBLI GILIT(HET 6IETHI 2 6WITEH60

gy o _ewiibdl &MY OBL (DG H6L

BUWGHFHT BHIDSH 6FHerHe0

Fpliy eSiemIb CFLOUTHET SHTEmILI

e. alemL O flwailsvenso

an op
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“Vendharkku Oli” - What is the meaning propounded in this Thirukkural?

i. Kodai ( Donation) ii. Ali (Kindness)

iii. Protective Sceptre ( Sengol Kudiyombal)

a.ionly b. i,iii only c. i,ii only
d. i,ii and iii e. Answer not known

“BoupsTh@d efwmag” 6B HHESBT THMETH FnBIdeBEHI?

1. Q&mTenL . ol iii. GQamBsmed GlBuImibLIey

a.i @ b.1,1iii w @D c.i,il @b
d.iii @b iii e. alowL O MNuelsdamen

Match correctly the Excavated information with the Excavation sites:

A. Thanjavur excavation 1. Roman Pottery
B. Kilaiyur excavation 2. Centre of Buddhism
C. Tirukkampuliyur excavation 3. Commercial contact between Rome and Tamilagam
D. Uraiyur excavation 4. Culture of Kaveris
A B C D
a. 1 2 4 3
b. 3 4 2 1
c. 4 3 1 2
d. 2 3 1 4
e. Answer not known

SIBDe]  (OHTELOLTH6T) SpITuIFFulesr LD LBBID el FHBD HH6UcLHCTH  FhwTeareuBenBL
QUT(HSHHIB.

A. BehameyT SiBpeuTyTUIFS 1. Gymomeiul O LIM6WTL Migb6NT
B. genwpwT oisbeungruiisd] 2. U$HS L0 6WLOWILD
C. FmsbasbyeiwyT Sisbamruisd 3. Gymomelw(hEGWD HLONDTHEHSHEGLD
DewL G 2 _sitem cuemilad OHTLTL
D. o eopwT Sisbeungmuiisd] 4. SHTCaUMUT6ET BEUTEFTILD
A B C D
a. 1 2 4 3
b. 3 4 2 1
C. 4 3 1 2
d. 2 3 1 4
e. alemL G flwalsvemnso

Who speaks the following lines in Barathiyar’s “Panchali Sabadham “? “ Tharumathin
Vazhvudhanai Soodhu kavvum”
Tharumam Marubadi Vellum”.
a. Panchali b. Kannan c. Arjunan
d. Tharuman e. Answer not known
“ HHOSHHET QUMD SHMOF GHl HelaD”
SH(HOD @Iy Gleuebend”
yryslwinfler urehamed FuHSHHe0 BFHemestdF OFTeOLIGUT wimT?
a. Um@hamed b. sewiemiest C. SITF G660
d. smwes e. alewL O MNuialsvame.
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76.

77.

Choose the right answer:

Which of the following statements are true about the Cholas?

i) The first mentionof the cholas is in the Ashokan inscription

ii. They were independent rulers in Tamilagam

iii. Kanyakumari Inscription and Anbil Plates give information of the early Cholas

a.1i is correct b.i and ii are correct

c. 1,ii and iii are correct d. i and iii are correct

e. Answer not known

gflwrenr alemLemwidh BHMbOHBHD

&0l OaTBaHalIUL (Bheen euThslwSsHe0 CampiTeel LUBBW shwmear uTSSLSMmBHE TnBisk.

1. 9IBsms 600U 1960 BFmpTEeT LUBY (PHeO (LPedBUITS GBILILILLILIL BelTeng.

. SOPBSH FHHAT DTFTH DIUTHET aTeTHIE 6.

iii. sa@iwTEGLR SOOIl BH6T LBBID Sieled Frgeanwd GaFmpTHel LUBPW HBHEUOHM6TH
FBIBBS.

a.1 WG Filwres b. i wBpd ii w G gflwrerg

c.1,1 wmmb iii Fflwmerg) d.i wppd iii sflwrerg

e. alewL GaMwalsdenev.

Four pictures of a cube are given below which number is on the face opposite to 3?

R R
N N N BN
14| 6] |6 | 5] (1] 4] 1|5
N “\/" N g N\
1 11 11 v
a.l b.2 c.4 d.5 e. Answer not known

SO FHTHIHOT BTG eUMILILMIS6T SO OBTHHSLILL (HelTeNer. 6HEH 6lewl 3 BT  THTLSHBLONS
B(hHs (PIQULD.

ey o 1S e, S

INeA= A "*\:ﬂ [\}/ :

14| 6] 16 |5) L1]4) 1| 5)

\l/ S sy U2

I 11 111 \Y

a.l b.2 c.4 d.5 e. ol G MNualeoemev.
Find the area of an equilateral triangle whose perimeter is 180 cm.
a. 1558.8 cm? b.1885.5 cm? c. 1585.8 cm?
d. 1888.5 cm? e. Answer not known
180 G&.15. si@Bmeney OHTEWIL @QH FoUbHE (PEHCHTaMIHAH6 LTI SHT6Is
a. 1558.8 cm? b.1885.5 cm? c. 1585.8 cm?
d. 1888.5 cm? e. alewL Ozfweaisoensv.

The CI on Rs. 15,000 for 3 years if the rate of interests are 15 %, 20% and 25%, for the I, IT and III
year respectively is

a. Rs. 10,875 b. Rs. 10,785 c. Rs. 10,885

d. Rs. 10,775 e. Answer not known

L 1T wpmio 1T eyewiGsensstear aully aismiser (pepBuwi 15 %, 20% wimib 25% eefled 5.15,000 &&
3 mIhHEG HMLHGID Il SIS,

a. en. 10,875 b. . 10,785 c. em. 10,885

d. em. 10,775 e. alewL O MNuialsvame.
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79.

80.

81.

If A :B=2:3, B:C=2:4, C:D = 2:5, then A:D is equal to

a.1:5 b.2:5 c. 35
d. 2:15 e. Answer not known

A :B=2:3,B:C=24, C.D =25, aiafled A:D @ gwwrer aldsbd
a.1:5 b.2:5 c. 35
d.2:15 e. alewL Ozfweaisoenev.

The Lowest Common Multiple (LCM) of two numbers is 6 times of their Highest Common
Factor (HCF). If the HCF is 12 and one of the number is 36, then the other number is

a. 48 b. 72 c.24 d. 12 e. Answer not Known

Carhdsiul L &m eeaidaiear WFHm Oumg wLmder wHOUTEIH, Sleual(m eleuideier LBLIGILIH
Curgis smyeniuler wHlemL el 6 wLEEG DHSTGWD. Coed Sieielm eeaseafer WHGLMH U
sryenfiulles &Y 12 wBBID Sleual(h eeniseiled b elewuewITaNg 36 6lefed, LOBOMT(FH 616001601 6T
&Iy

a. 48 b. 72 c.24 d.12 e. alewL OzMweaisoenev.

Which of the following statements about GST council is not true?

1. The members of the GST council choose one amongst themselves to be the vice-chairperson
of the council.

2. Every decision of the GST council shall be taken by a meeting of not less than two-third of
the weighted votes of the members present and voting.

3. One-half of the total number of members of the GST council constitute the quorum at its

meeting.
a.land 2 b.2and 3 c.land 3
d.1,2and 3 e. Answer not known

letordly  HaeirFled UBPIW LUeiTeu(Bd DIBldHmEBHere0 615 2 6EmIenLouIe60?

1. eterdly HoyeridFled o MINIITHET HHIB6TNED @HEUMT SISl Hlemewidh HemevaugTd BHiTey
CFuISBTae.

2. etervly Heyairdlellel eelleUT(H (PYAD HevbHEH OBTeTEHD OBEID auTdhHeldEGl o mitiilearmser e
AUTHGHBH6NM60 cpaiifled @6 LURSBGS GHMBUWTSH Sl LSBT0 61(BHHBLILIBLD.

3. latervly seyeniFledlelr GomsHsH o miliflerseier  eenienibmauled LTH  CuT DiHeT gal L SHHled
GmDHS eTenienlbensuleomer BUGT LEIG GuXBIeT.

a. 1 wppid 2 b.2 wBmb 3 c. 1 wBmbd 3

c. 1, 2 oBmib 3 e. alewL OHflweaisdensv

The Monetary Policy of the Government of India emphasised the following two aims of the
economic policy

(i) To control and reduced inflationary pressure in the economy.
(i)  Speed up economic development in the country to raise national income and standard of
living of the people.

(iii) To increase the per capita income.

(iv)  To have a cheap money policy.

Select the correct answer by using the codes given below:

a. (i) and (iii) are correct b. (i) and (ii) are correct
c. (ii) and (iii) are correct d. (iii) and (iv) are correct
e. Answer not known

25 | Page Ph: 044-24339436, 42867555, 9840226187




82.

83.

84.

@b  opFler  uUmaTHES OETeTensWTaidl OUTHTTHTIH OdmeTensulea Laeumbd Syeni(h

GrreHasmIBren 6160U|BISHSHIS @B

(i) QUTHEMTHTTHHL Liewiaidsd D(PSHHHMHDS S BLULGSDHOD &MBLILISBESLD.

(ii) BCxpdlw  euepoTEND OBMID  WEHFHETNST  UTDHMS  HIHWSH 2 WTHSH [BILIgeT  QLITHeNTTSHT]Y
auenTFFenwl alenyeUBsHs.

(iii) e euBLTAIHMS DIFHH MBS

(iv)  weleyll LWEQBTATENHHBTSH

GBuihsmen LweUbBSHHEF Fllwmer alenl  HTewnis.

a. (i) wbpo (iii) gfwreareme b. (i) wBpp (i) Ffwreeneu

c. (ii) wmmid (iii) sflwmerene d. (iii) wBp (iv) sfwrereme

e. alewL OFflwaisvensv

Which of the following statements about Index of Industrial Production (IIP) are correct?

1. The IIP is a key economic indicator of the manufacturing activity in various sectors of
economy.

2. IIP data is regularly published by Central Statistical Organisation (CSO)

3. The base year for IIP is 2011-12.

a.1and 2 only b. 1 and 3 only c. 2and 3 only

d.1,2and 3 e. Answer not known

Ueteumd opfisbamaseied, omeogmp o pusduls auflog (IIP) uppslw siwrer gBm e1g?

1. 1P etesugy), ws0Geum GUITHOMTSHTT HiWBHeeT 2 BLSHH BLOUYSMBHeME (LpdHBUI  QUITHETTSHTY
GBIBTLIQUITELD.

2. IIP sreyser wsHw Lemeiuiwed oiemwiny (CSO) — aumed OFTLiha GeusuiL LLBaBs.

3. IIPs&sten sgliuent. SuewiG 2011-12 Sy&GLb.

a.1wBpib 2 Wl @0 b. 1 wBpid 3 w GO C.2 BmIb 3 Wl B

d. 1, 2 wBpd 3 e. alewL OFflwalsdensv

“British rule was established in India with the cooperation of Indians, and had survived only
because of this co-operation. If Indians refused to co-operate, British rule in India would
collapse with in a year and Swaraj would come,” who said this?

a. Sardar Vallabhai Patel b. Motilal Nehru

c. Mahatma Gandhiji d. Bal Gangadhar Tilak

e. Answer not known

“@hgawisellar @HHmWlCUTH  yRSICowflear o' d Bneulul L g, &% @S5HMWPULIETe0  HT6
@by o UoPpSHesTamIgmESBgs.  @hIHWTHET  @S5HMPHE  DBISSTE,  @bSlwiraled
RIS Ceowiflent oL & @h UmBLSHL ailpbhd FWTTRUID eOHD” 61eTml FnpSluleu wimT?

a. e eueveoLmul UL GLed b. Gurdlevured Gp(H

C. IDHTHIOT  HiTH d. utev BMIBTHY HevHT

e. alewL OFflwaisvensv

In 1944, the Government of India setup a planning department under the chairmanship of

a.S.N. Agarwal b. M.N. Roy c. Dr. John Mathai

d. Sir Ardesir Dalal e. Answer not known

1944-860 @HHW DIFFTHISLD FHweoenouledt S @ FHLSH HwBenwl GBLBHHUISI.
a. 6I6NV.6T6I.  BISHITEUTED b. enb.ereir. gmul c. Dr. sgmeir omgmul
d. a1 9iBsdm Hevmed e. alewL OFflwalevenev
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88.

89.

Who arrested by the British Government for the Bomb explosion in 1933 at Srivilliputur Police
Station?

a. Sathyamurthy b. Parthasarathy c. Kamaraj

d. Ananthakrishnan e. Answer not known

1933-b oewi® falevedysbHIT STaled HmeowHH0 Caug&emih OeuSHHIBETH HIS G0 DIFFT60
&G QFuIwIrILC LeuT wimT?

a. FHFWwepTsHa b. unitgsaTye) C. SMOJTEY

d. oierhsd magemtes e. alewL OFfwalevenev

What is the title of the Doctoral Thesis of Dr. B.R. Ambedkar in 1923?

a. The problem of the Rupee b. Caste System

c. Untouchability in India d. Unbritish Rule in India

e. Answer not known

19239110 syemtged BuBosmeni LréLT B.R. oubGugsfler (wpewereut ulL syuieler gHemeoll] ereier?
a. epumulest LgFHeneor b. ard Sy

C. @bHwmaled 6L TenLD d. @bdwreled SymEGwm @eveord S &

e. alewL GaMwalsdenso

Acid rains are produced by

a. Excess NO2 and SO2 from burning fossil fuels

b. Excess production of NH3 by industry and coal gas

c. Excess release of carbon monoxide by incomplete combustion

d. Excess formation of CO, by combustion and animal respiration

e. Answer not known

DIV DMLY CIHTTEL 2 (HEUTSIBS

Lo erflOurmemen erfitiugmed Geueilaumd Sigstitguimer NO2 wommpid SOz epsold
oiFsiugurer (NHsz) 2 BusHd wmpid Ligo Hleoda eumuy ewpesold

SiFHsUgwITer STTUST CTeMmEmFH (LPLOMLOWITES  6lfldSLILILTD E)(HLILIGI
SIFFBLILIQUITET LiwleTumLip sifluidleveumu] Bm3ID allevmiSler Faumg (LenBHeiT eLpevLd
allewL O Mwealedenev

c a0 o

Why is the Himalayan region poor in mineral resources?

a. Displacement of rock strata has disturbed the arrangement of rocks and made it complex

b. Itis made up of crystalline rock

c. The terrain makes exploitation of minerals difficult

d. The climatic conditions are not suitable for exploitation of minerals

e. Answer not known

BOWIDMEVL! LIGSHH6M60 HEID 6UENHIGH6T 66T (GHemBeUTS ©_6iTeren ?

a. umems LYCESE L2k B UeuwiTEFS UTenH61 63T SIMLOLIGHLIF Fn@mevsHl SIS
FBHeoTH S L|eTenS

b. @& ugs UTEOBUWTED SLETS

C. Mooyl SHNBIS6T 6IBLILMS HYTLOTHESGHS B

d. s uGariuBleney SalokIseT IBLILSBE GHBBSHe00D

e. alewL Ggflualsvenso

Asthamudi is an important lagoon of the coast

a. Malabar coast b. Konkan coast

c. Cholamandel coast d. Northern circar coast
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91.

92.

93.

d. Answer not known

SIVGHT(IPIY 6THIMB (PSS SHTUI6D SL_BEHmIuied STenrliLbBaEBES
a. LOGOUIMIT &L B0 b. QsmhIBTERT B3]

C. GamLiewi 6w &LMEmy d. QULFTHIT SLBHM]Y

e. alemL Gafwealsdenso

Which of the following statements are true about population growth of India?

i. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 44% of the
total population of India in 1996

ii. Bihar, Uttarpradesh, Madhya Pradesh, Rajasthan and Orissa, which constitute 48% of the
total population of Indian in 2016

iii. ~ These states contributed 70% of the total increase in population of the country during the
period of 1996-2016

a.ionly b.iand iii only c.iandii only

d. ii and iii only e. Answer not known

@bFHwrealer wHsL0HTend eauenTdd uBpBlw Uaieumd gaBpiseaied gflwimeremel eleneu?

1. e, o s$ariiiyGssbd, wHHWILIFCHFLD, BJTERevSTET  BBID flgm, 1996860 BbgHwTaler
OCLTHs WHHL0HTmHUIN 44 FHAHD LGS

ii. Jen, o saAriilyGssb, wHHwlyCsan, @yreevsmer wBmIb @fler, 2016860 @bdluwimeaie
CLTHs WHHL0HTmHUIN 48 FHAHLD LG

iii. 19962016840 &MV  &SLLSHH60 HIL el OTHs WSS 0FHTms DHeMiled  Gomaewi
LMHeVEIS6T 70 FHAIGID LIBIS6TSHE 6.

a.i L (B b.i wBpb iii L G C.1 w@mmib ii L B

d.ii wBmie iii o’ Ho e. alewl O fwalevenso

In A.D. 1894, the Kashi Nagri Pracharini Sabha was founded in

a. Delhi b. Bombay ¢. Madras
d. Calcutta e. Answer not known

&.19.1894@60 s1d Baf LyFamflen gum ®60 BHBIILILLL Gl

a. GQLeval b. wbumul c. QoL gmerd
d. se0BHHT e. alewL Oafweaisbensv

Who was the first person to place the demand for a separate Muslim state in British India?
a. Mohammad Iqbal b. Muhammad Ali Jinnah
c. Rahmat Ali d. Mountbatten

e. Answer not known

Uil ged @baHwmelsd, (WHT (WHeUed, (WereSlddEndHsTear Heal BTH Camiidamsamul  (LpaileneldSHealT
wimir?

a. (IpsIDIDGI BELITe0 b. wasibiog 9168 fesent

C. JaBind 9160 d. weyewn GuL L e

e. alemL O flwailsenso

Which of the following statements are true about Buddhism?

1. Buddhism denied the authority of Vedas

2. Buddha’s teachings were largely based on Brahmanic ideas of Punarjanma, Karma and
Moksha

3. Buddhism was not practical and ethical

4. Buddhism accepts God as creator
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a.1, 2,3 are correct b.1 and 2 are correct

c. only 2 is correct d. 3 and 4 are correct

e. answer not known

S GEUUILOUGUaBSed CQuensd WD GG Fflwrer gmmenm Bpitey OFUIS

1. Quengad Couspmisaier HHHHHMSH LOBIGIH MBS

2. Quengm  Burmemensel  wmLImin,  Gumlgwb,  &Tom spFHw gmoend  HHBHSHIHHEM6N
SIQLILIHLWITHSH OSHTewTL Sl

QUETSHSID BEOL(PenB BBID GBS (PeBULBBSI
QUETHSHID HLeemerll LienL LILeUITs gBmIsesTendpg

3

4.

a. 1, 2 wppid 3 & b. 1 wBpb 2 &

c. 2 w @ g d. 3 wBpd 4 &M
e. alewL. Gafluwailsbenso

94. why Ulama’s had great influence in Muslim society, politics, administration and religion?
a. They were in great numbers during the Delhi Sultanate
b. Due to their holy living and high thinking
c. They were well-versed in Muslim theology and Figh
d. They controlled trade and industry
e. Answer not known
(PerOelld  Fewald, SIPFlWed,  HiTeunsld  BEID  WHD  YBHweuBBled 2 euTHEeT  gB Gk
CFeLUTEGHEF OFa0ISH S 6ITTH6N?
SIUTH6T GIL60e) FHELFHTABHHDHD DIFHS slcuwienibamnsulled S\mbbHeT
SlalTHaie Lelsh aumpHend WBBID o Wibs FhoHenen SITJemILoTS
SIUTHET (Lpervelld Bemmuiluied B .. .18 SidFlweuBpled Hei@ GCiTeFd GLBSHHSHeT
SIUTHET AUTHHHD OBEID CFHTIHeOSHImMBDUIS SL_BLILIHSHS 60T
allewL O Mwealedenev

oan o

95.
Assertion (A): Rule of law entails that all persons, both public and private
institutions, the state and other entities are accountable to publicly promulgated
laws.
Reason (R): The rule of law forms the base to international peace and security,
and it is at the core to protect people’s rights and their fundamental freedom.

A is true but R is false

Both A and R are true and R is the correct explanation of A

A is false but R is true

Both A and R are true but R is not the correct explanation of A

Answer not known

ammm (A): FLLGHHe o & eeiugh SIF wBEId SHNWMT Hnaleamiseied
o 66N SMeTaU(HD WLBMID OIFF  BBID LB HBUSTRISEHD  LD&SH6NT60
uBpLLL L FULSFHBEG GUTBILILITETeTS6IT

smgewid (R): sl Lsder o & @il LS (b Sienod BHBID LITSHISTLIL
SlgliuenLuiled o (haurergl. Ged DiFl dbHeMer 2 flenbdamenuld &|aTH6r 6T
Sl FHHATHMBUID STUUG (IPHSUWID  6TIISHBGI.

a. A eaeug gfl gemed R ereiug sHeuml

b. A wppib R @yewiio M wipd R aaug A & aflwne elendslon@d

c. A sap semed R ereiug &

d

e

pap e

. A oppb R ereiug gl guemmed R eteiug A a1 gflwmen aflendsld ©je06v
alenL  Ggfwealsvenev

29 | Page Ph: 044-24339436, 42867555, 9840226187




96.

97.

98.

99.

100.

Which of the following statements is/are not true about the ‘governor’?
He appoints the Advocate General of a State

He appoints the Chancellor of Universitites in the State

He appoints the Chief Minister

He appoints the state Election Commissioner

Answer not known

LOMHl60  SY@HBT LMY BIDSHHemi aUTHHWBIS6N 1%/ 6Tenal HalBTeig?
LOTHIEY  HENEVMID AULPSHBMIEhen]  HILILO ST

LOTHIEVLT LIeL&Heme0 SHLpBmIsGeMent GeubgHeny muldldammiT

(PHEVMDFFEM]  [HIUILO ST

wrplev BaiTeHed oigsmilenws BluwblebasmmT

allenL  Ggflwalsvenev

®an o

-

oan o

Need for a constitution for free India was first suggested by

a. Motilal Nehru b. M.N. Roy c. Subash Chandra Bose

d. Mahatma Gandhie. Answer not known

&FHIHT BhHwmalBg T opgamwiysd FLLb Ceuewi(Bd erer (PpHeded UMHIHIENTSHHeUT
a. Gurgleored Gpm b. M.N. gmui C. auney ghalpGumerd

d. wasrHT HMhd) e. aloml O fwalevemnsy

In a Modern Democratic state, citizenship is a

a. Natural right b. Legal Right

c. Statutory right d. Fundamental right
e. Answer not known

QH Hefer BTl BTLIgeD GQuflento 6IeTLISI

a. Qumens o Menp b. &L o fend

C. BTLTEHLOMIBEF FU L o flend d. opgliuen. o Menp
e. alewL G fwailsvenso

Which one of the following statement(s) is not correct about the Indus Valley People?
i. The Indus Valley People worshipped trees and animals

ii. The principal deity of Indus Valley People was Krishna

iii. =~ The Indus Valley People worshipped fire and water

iv.  The principal deity of Indus Valley People was mother goddess

a. iand iii only b. ii only c.iand ii only
d. ii and iii only e. Answer not known

BpSHWIL_auBDIeT Fbdl 0SB LBBIUI SHUBTET FmBBI(H6T) 6151/ eTeneu?

1. FbxiCeued 10HH6T OJLD WBBID eNeVHIGHEHMETS HLGY6NMTS  GULAILIL L 6TT

ii. FbziCeued éHHefer (pHH WS HL 66T Bl(HOR6uIT

iii. Fbai0aler 105H6T QBB OBBID HenJdh SHL 6T GUHILIL L 6T

iv. Fbgloeue odFHela (pHBHWdb FHLaell GUERT OFHUIeUBISHEN
a.i wmmid iii o’ Hb b.ii w G C.1 Bmib ii o Hid
d.ii wBmw iii w’ @D e. alewL Oz Muialsdensv

The primary contaminant included in cigar smoke is
a. Carbon monoxide and dioxide b. Carbon monoxide and Nicotine
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101.

102.

103.

104.

105.

c. Carbon monoxide and Benzene d. Dioxicine and benzene

e. Answer not known
FHOIL Yemapuled o 616 (LPHeLHenev oM

a. asniuer Curemdema® LOBBID ML QLHmF(H

b. aniuer Guremeama® WHBEID KléGHMig e

c. &niuenr Guremméms® LoBmID GlLiesd e

d. oLsoisdenger wBBID G e

e. alomL Ogfwalsdenev

When a ball is projected upwards there is an increase in its

1. Potential Energy 2. Momentum 3. Kinetic Energy
a.1 only b.1and 2 only c. 2 only
d. 2 and 3 only e. Answer not known

ubemsd GuwGev eflwbCurg o1 GG  OF&IBH. SCUTISH LHSHD BLDEHBEIL UBDI6NT
SIFaMbHBEHI?

1. HleweowmBBed (&) FTHHUWILOTERT HBMBEL

2. 2 bHp

3. BWEH HYMMEL

a. 1 o @B b. 1 wByd 2 w G C. 2 wL (B
d. 2 wBmpb 3 W G0 e. alewL O fwaledensd

The enzyme involved in unwinding of DNA is

a. Telomerase b. Helicase c. Polymerase
d. Ligase e. Answer not known

DNA eneu @gewih @evpsentas L1fLugHed FEUBL OBTe wmg?

a. GLBeumoBrerd b. GamediBmserd ¢. uTeIGLGyerd
d. a98merd e. alowL O fuialsvamen

The first step in the seed germination is imbibition of water which induce the

a. Stimulation of plumule b. Breaking dormancy

c. Growth of radicle d. Resumes metabolic activities

e. Answer not known

alend (PmendHHedle (PFHev Heneownd BT o MlehFliuBBurgs BF amd HTeRIBHBHI?
a. (PMeT GH(HHH SHMeRIL LGS MBS b. alews 2 BEHsD HoLUGHBS

c. alenaBauT suenTEHmaI d. Qed BusHID FHIOIBRIGEBS

e. alemL O fwailsvenso

Which is the one considered to be more important to study the History of Science is
a. Antiquarian curiosity b. Logical reasoning

c. Scientific Knowledge d. Conjunction with philosophy

e. Answer not known

aflalwed sugeoTBMlenetd SBLH WS (PHBWIDTHISHTHS HHBULUGBLD 6Bl

a. UDbOUTHeT 5% SLTeuld b. sids FfHLUTHE HYERIBISBTEI

c. 9palwed ey d. 5580556 BenewiliL

e. alemL Gaflweledenso

geil

Which one of the following phenomenon cause adverse changes in global climate pattern and

wreak havoc world wide in the form of floods and droughts?
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106.

107.

108.

109.

a. Carbon Diodixe b. El-Nino c. Tropical Cyclones

d. Itai-Itai e. Answer not known

SPEFHTMILMBBIEL  61hdh  @6Iml, 2 605  Sealed, GeusTemd  eupldl 6B QUIQEURIGH6T60
UalSSL LG (LpenBHeriled  LTHSIOTHT  OTBBEIGmeT  gBUBSHS, Bupbemnsll GureyseT HaLD
SMTEILOTS B (HbHmEHI?

a. &iflullev eumuy b. ereoBGemm C. Geuliuemt60 @mmeuer

d. @' LG Ll e. alowL O MNuwealsdamen

Which of the following statement is/are correct NONOBOTS are:

1. Robots that carry out a very specific function at nano scale level

2. They can be injected into blood stream

3. They can be used to measure toxic elements in the environment

4. They are very cheap to produce

a.1,2and 4 b.1,3 and 4 c.1,2and 3
d.1,2,3and 4 e. Answer not known

SpsareaviueuBmien o1kl aemeu Fllwmer gmpm ‘NANOBOT mrGermmum’ s iLGeaug)
. @mp @&EUULL usleow OFuw o ey BTCaMOLLT oenalsomer GyrGum o@D
2. QauBeon @rsHE BTSN 2 L LjEE&SH60MD

3. BDauBmB SFBBIFGWele0 2 6iTen BF&L GUTHL HM6T Sjeall LW6GTILIGSHSHE0TLD.

4. amemp 2 BUSHSH OFuieugl WS weleuTears

a. 1, 2 wmmid 4 b. 1, 3 wBpD 4 c. 1, 2 wmmd 3
d. 1, 2, 3 wByd 4 e. alewl O fwalevenso

Which of the following are correctly paired:

i KVK - Kisan Vigyan Kendra

ii. SAME - Sub Mission on Agriculture Extension

iii. =~ NSDA - National Skill Development Agency

iv. ~ ATMA - Agricultural Technology Management Agency
a. 1, i and iii b. ii, iii and iv c.1,iii and iv
d. i, ii, iii and iv e. Answer not known
Uelieuheusioubpiled e1ghl Fflwns SenenrdbsLlill (Heteng)?

1. KVK - dlgner aleheprer Cabym

1. SAME — Geauenewt alfloundsd Hienewt BLalgHmd

1ii. NSDA - Gzdlw dHmeir Gubum’ B (psento

v. ATMA - alleusmw Gambeomi L GLoeOTemIenid (LPEHEmLD

a. i, ii wmmnb 1ii b.ii, iii wmmb iv c.1i,iii wBmb iv
d. i, ii, iii and iv e. alomL Oafwalevenso

How many number or Ramsar sites are identified in India till 15t August 20227

a. 82 b. 78 c.75 d. 70 e. Answer not known
AhHwmaled e1HHemen JTOFTT @ MG 15 iderol 2022 6uen]y el MLl (HeiTemeo?
a. 82 b. 78 c.75 d. 70 e. alowL  GaMuwialevemev

Read the list given below carefully of dignitaries and find out among them the correct
hierarchical order with respect to their rank and precedence

i. Chief Election Commissioner of India

ii. Cabinet Secretary

iii. Chief of Army Staff
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110.

111.

iv.  Deputy Speaker, Lok Sabha

a.iv, iii, i and ii b. iv, iii, ii and i c. i, 1iv, ii and iii

d. i, iii, iv and ii e. Answer not known

&6  CamBésiur Beten 2 Wit usel SeveleTaelar L guiemed SalalsHs  DeuTwer LSHaiule
SlgliuenL_uilevmen (Wesre_Mlewioll LMBleneLL! LILIQUINeLS  SHeuTL_ s

i. BhHHWL Hmevenld BCHTHeO LeHEILIT
l. WLHFHW DIMOFFTMeUF CFUIGOT

1ii. SHEMEVENLD ETTEMIe! DIFH Bl

1v. LDEEHETENE  HIGNEWTSH HENEVGUT

d. i, iii, iv @b i e. el OzMuieisdemsd

Which is the international coalition of solar-resource rich countries that are collectively
addressing common challenges on solar-energy applications?

a. International Solar Energy Society (ISES)

b. International Solar Alliance (ISA)

c. International Renewable Energy Agency (IRENA)

d. International Energy Agency (IEA)

e. Answer not known

G BBed LWSLTHS6N60 GUTHIEUTS o 66l FauTedHMeN SHTLLEH GBISHSH Sl LT alamdlos
o _(meuten - GMw euend LGHS BTBHS6MT Snl Lol 6157

sauBss @fw submed &Fapsd (ISES)

siauBss @Giw F68 gnlLenil (ISA)

siaBss Lalilssssss BB pamw (IRENA)

gauBss oymmed (o (IEA)

allenL Gz flwealsvenev

o an oP

Match the following and choose the correct option related to ISRO

A. URSC 1. ISRO’s virtual space Museum

B. ITTP 2. ISRO satellite centre

C. SPARK 3. Space science for school students

D. YUVIKA 4. Technical training for ISRO staff
A B C D

a. 2 3 4 1

b. 3 1 4 2

c. 2 4 1 3

d. 4 3 2 1

e. Answer not known
ISRO Qariumer SpoareniuaBens QUTHSHS BB Filwrer aleamLmul Csits

A. URSC 1. ISRO aflar ailTggiaied ero@uerd 1Ouyfuid

B. ITTP 2. ISRO gienemiaBsmei [eneouiLd

C.SPARK 3. ueiterll  LoTeWIOITHEHHBTET alewuiGouai oipfailuisd

D. YUVIKA 4. ISRO afer uewilwimenitasendsrer Gamheomp Lt LulBd
A B C D

a. 2 3 4 1

b. 3 1 4 2

C. 2 4 1 3
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d. 4 3 2
e. allewL  Ggflualsvenso

112.  Match the winner of medal in common wealth games 2022 with their sport

Player

A. Sharat Kamal
B. Lakshya Sen

C. Mirabai Chanu
D. Nikhat Zareen

A B C
a. 1 2 3
b. 3 4 2
C. 4 2 1
d. 2 3 4

e. Answer not known

SToeTeeus0d 2022 alenemumliged LSS OeuaiBeauTasemen SieuToengl alenl wrl BLer CUmhHEHs

allenemwm_ B ey
A. Gagyl &lD6L
B. eudseniwm GFest
C. Symumus gmepl

Sport

1. Boxing

2. Weight lifting
3. Table Tennis
4. Badminton

R R

aflememum_®

1. &53 FewnienL
2. U@H HITHGHSH60
3. Gy LbHF

D. pésl agfler

A B C D
a 1 2 3 4
b. 3 4 2 Y
c. 4 2 1 3
d. 2 3 4 1
e. alemL G fwailsvenso

113.  Which is correct?
i HYV - High Yielding Varieties
ii. MSP - Maximum Support Prices
iii. ~ PDS - Public Distribution System
iv.  IPM - Integrated Pesticide Management
a.i, ii and iv only b. i and iii only
d. i, iii and iv only e. Answer not known
elxl Fflwmeorgl?
1. HYV - 9185 alemendged S euendHei
ii. MSP - gifasul s usye| alenev
iii. PDS - Qurg alBGuins (pemm
1v. IPM - g@ordmanbs LFdeE0sme060 GosvTemtento
a. i, ii BmIb iv L Hb b. 1 @b iii w1 (Bib
d. i, iii oBEIb iv 1L BLd e. alenL  Gafuwealsdemnso

c.1,ii and iii only

C. 1, 11 o@D 111 Lol (BLb

114.  Match the following

A. 1997 1. Anaithu Grama Anna Marumalarchi Thittam
B. 1998 2. Varumun Kappom Thittam
C. 2006 3. Samathuvapuram
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115.

116.

D. 2009 4. Namakku Naame Thittam
A B C D

a 3 4 2 1

b 4 3 2 1

C 4 1 2 3

d 3 1 4 2

e. Answer not known
BIPHBMIL_aUBenBL CQUT(HSHHIH

A. 1997 1. SimanHdH ST SiwTeniT LOBI6VTFH S S L LD
B. 1998 2. ey (et STIGUMD &L LD
C. 2006 3. FHSBIITID
D. 2009 4. BW&EG BTG S LD
A B C D
a. 3 4 2 1
b. 4 3 2 1
C. 4 1 2 3
d. 3 1 4 2
e. alewL Gafwealsvenso
Match the following Acts with its corresponding years
A. Madras Wild Elephants Preservation Act 1. 1882
B. Tamil Nadu forest Act 2.1980
C. Forest Conservation Act 3.1972
D. Wildlife Protection Act 4.1873
A B C D
a. 1 4 3 2
b. 4 1 2 3
C. 2 3 1 4
d. 3 2 4 1

e. Answer not known
glLmIsmen DIHCamh CFHTLTHmL U SLenihsCeanm® OLmmoHI

A. FHITE0 QU WITEDSRNHET LITHISTILFFL LD 1. 1882

B. s0bpTh euergsl LIb 2. 1980

C. euenr UTEHISTILF FLLID 3. 1972

D. auenr elevmidHseT LUTHIGTILF FLULID 4. 1873
A B C D

a 1 4 3 2

b. 4 1 2 3

C. 2 3 1 4

d. 3 2 4 1

e. alemL Gaflweledenso

During the early resistance against the British who issued the “Tiruchirappalli Proclamation”

a. Veerapandia Kattabomman b. Velunachiar

c. Maruthu Brothers d. Puli Thevar

e. Answer not known
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117.

118.

36 | Page

RIS COWITHEHHEG — THTTert
Geuerfluil L euf

a. eifyumenngul &L L OUmLbLoest
C. (G FCHTHITHIT

e. alemL Oz flwailsvenso

Match the following
Name

A. Swami Sahajananda
B. M.C. Rajah

C. Pandit Iyothee Thass
D. Veerasalingam

A B C D

a. 3 1 2 4

b. 1 3 2 4

C. 1 2 3 4

d. 4 1 2 3

e. Answer not known

CUT(HSHIS

QUi

A. Foumd FEMBHSBT

B. M.C. gmregr 2

C. uewngl. BWTSHABTEFT 3.

D. aiGygeimisid 4
A B C D

a 3 1 2 4

b. 1 3 2 4

C. 1 2 3 4

d 4 1 2 3

e. allenL  Gafwalsvenev

Match the following

Tinais Their Gods

A. Kurinji 1. Kali

B. Mullai 2. Murugan

C. Marudam 3. Indra

D. Palai 4. Tirumal
A B C D

a. 3 4 1 2

b. 1 3 4 2

c. 2 4 3 1

d. 4 2 3 1

e. Answer not known

QUT(HSHBHIS

& emeuor BL66iT

A. &lehd 1. e

B. (ipsvemev 2. (P(HBET

obusTen  erFHiinler  Gumg  ‘@mFFgmiiveierd

b. Geugy mrFAwmT
e. 4edlsGseui

Related to

1. Oppressed Hindus

2. Tamizhan

3. Nandanar Kalvi Kazhagam
4. The Widows Home

O TLiTenL Wi

1.

9QIUFeE  anilesiBerd

. L6

BHSOMT HeLaID SHLOSLD

. algmel B60eVLD
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119.

120.

121.

C. masid 3. @hAyer

D. umenev 4. FHmLomed

A B C D
a 3 4 1 2
b. 1 3 4 2
C. 2 4 3 1
d. 4 2 3 1
e. alewL Gafluwailsbenso

Gandhiji established as ashram at Sabarmathi. Likewise an ashram was established in Tamil
Nadu by Rajaji. Where was it established?

a. Madurai b. Vedaranyam c. Salem

d. Thiruchengodu e. Answer not known

SMHFHWIPH6T  FUTDS eaiamid S SHH60 e Fgwd o (Haurdbdlamt. 6% Gumed @yTegre)
SOIPSEHFH60 @ UATWD 2 (HeurdhHlarT. mbs DNSH 2 (HeuTdhdleniT?

a. LDGIenT b. Geugmyewtuiid c. Gzeuld

d. FmpFeshtstH e. allewL Oafuialsvensv

In 1921 at Erode, E.V.R. picketed toddy shop. Two women also participated in picketing. They
were the first women to be arrested for picketing toddy shops in Tamil Nadu. Who were they?
a. Nagammaiyar and Kannammal

b. Nagammaiyar and Moovalur Ramamirtham Ammaiyar

c. Maniyammaiyar and Muthulakshmi Reddy

d. Maniyammaiyar and Nagammaiyar

e. Answer not known

FGITLIg60  192184b  SLewi(h  F.Ceu.JT.SHLODBTL 1960  H6lEhbHmL  Lopsluied GumymlLLd  [BL S eIT.
SILBUTEH Ayewi(h GCuemideT SeumbLer GFibgh wpslwied GuITTL L S&He0 FEHULL6IT. Dieual(h Gl SeT
HTe  H6MEHbHenL  Plwed CUIITLLSHD RFOULLSBETS (WPHT (PHeded MBH GEFILLILIL L auTsHe6l
SIQUTHGT WImT?

BT&LDENLOWITT LOBMID  &630T600TLDLOTGIT

BTSLOMOWITT OBBID  epeusOT SFTOMOTHD DIDELOWITT

SHEUTENILDLOTET LOBEILD (LpSHSHIOe0L &Ll Gl g

LDGDOTUILDEMLOWIMT  LOBMILD  [HTELDEMLOWITT

allenwL O fwealedensv

oanoe

Which of the following are correctly paired?

1. Nizhal Thaankalgal - Vaigunda Swamigal
2. Hindu Progressive Improvement Society = - Rajaram Mohan Roy
3. Samarasa Sanmarka Sangam - Vallalar

4. Self respect Morality - Vedanayagam Pillai
a.1land3 b.1and 2 c. 1 only

d.1,2and 4 e. Answer not known
Fgllwmsll QuImSSILL L Cxmgsamend CaHboGHBHHHMD

1. [PBlped HTHIGB6E0H6IT - MEUGEWIL  SeUTLOBH6IT
2. @bz wBlurse (WaTGeaBs FhisLd - gregmymd Gomsest Ul
3. SWOJF FOIDTTHS FHISHLD - GUGIT6ITGVMIT

4. swoflwreds Buisbsd - GougpTwsLd LleiTener
a. 1 wBpbd 3 b. 1 wBpbd 2 c. 1 W@

d. 1, 2 wBpd 4 e. alewL Oafuwialsdensv

37 | Page Ph: 044-24339436, 42867555, 9840226187




122.  Match the following books with their authors and find the correct order

A. Ulagam Sutrum Thamilan 1. Desiya Kavi
B. Gnanaratham 2. Swaminathan
C. Thanneer Thanneer 3. Ve. Ramalingam
D. En Kadhai 4. A. Karuppan
A B C D
a. 1 2 3 4
b. 2 1 3 Z
c. 3 4 2 1
d. Z 1 2 3

e. Answer not known
ulwed I @ o eften mHITeLHemenl L lguwisd I Bed o eiten mmeorAflwiTaemL et QUT(HSHHIS

A. 2 &b FBBID HLOLp6T 1. Capdlwbmal
B. epremysid 2. SGUTLOIBTSH68
C. gewieniT HewreunfT 3. Geu. @moeImIGLD
D. e6it ®smg 4. 6. B(HLILIGH
A B C D
a 1 2 3 4
b. 2 1 3 4
C. 3 4 2 1
d 4 1 2 3
e. alewL Gafweaisvensv

123.  Choose the correct meaning for the following sentences:
Palakudai Neezhalum Thankudai Keel Kaanbar

Iravaar Irapparkku Ondru leevar

These two statements appreciates the prowess of the king
These two statements appreciates the philanthropists
These two statements eulogizes the farmers

These two statements talks about the humble person
Answer not known

D&MD FnBmIBEHHG W QUTHSHSITET GUTHmensdh BTe] CFuIs
LIVGEML BV HHIGHMLSBIDE  SHTeusTLT

SyeutT @ILUTTSE Q6T FeUT

Beiaiyeni® euflaepd opsfer CUHemenW Gugiseimsen
Beuaiyenih euflaeEmd eusTenellen GLIHEmeWIL GLmimIseTment
®euaigewih euflasepd o eaufler GLmemwemwl Cugidlamset
Beuaiyeni(h euflaemnd Lenfleyeemeuflen LiswrenL’s GummBmIsaer.
alemL  Ggflwealsvenev

COAN T NEEg0an T NP

124. “Kavarum Kazhagamum Kaiyum Tharukki
Ivariyaar Illagi Yaar” - to whom does the advice is said in this Kural?
a. Guards b. Ambassadors c. Munisters
d. Kings e. Answer not known
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125.

126.

127.

128.

“HOUDID HB(PD MBUID FH(HHD)

Ao @eveordl W’ - BdH@GHM6T WThd@G DiSleyeny Fnypismgl?
a. SITEU6VITH6IT b. snsiaitsel C. SIMLDFFTH6I
d. GaupsiTser e. alewL Gafuwelsdemsv

Find out the missing value in the given figure

— :I: — :
I
a. 8 b. 64 c. 216 d. 25 e. Answer not known
CearbobasiurL UL SFed alBUlL  eremienle LOGLIenLI STewis
gaos
I'\.\' _/}f '- . ._ X‘B‘;‘:‘i
a8  b.od c. 216 d.25 e. eflenL Gfweisrmen

A’ can finish a work in 18 days and ‘B’ can do same work in the half the time taken by “A’, then
if they work together, then what part of same work they can finish in a day.
1 1
.= b. = C.
9 6
A @m Gouemevenw 18 pHIL&eled (WsdmrT. B 918s Gaumevenwl (ppsHs A 6BHGHI0D BT H6fed
uTSHlenw! eIhbHMT elelled @meubd CHMbaHl @ BHIafed (PYHEGD Gauensoule Si6me| 6I6TenT?

b. i c. z d. 2 e. alowL Gz Muialevemev
6 7 5

a

~ N

d. % e. Answer not known

a.

A=

The side of a metallic cube is 12 cm. It is melted and formed into a cuoboid whose length and
breadth are 18 cm and 16 cm respectively. Find the height of the cuboid.

a. 6 cm b.7 cm c.8cm d.10 cm e. Answer not known

2 CoumaHFTe0 AT QIhH SANFFHTHHT LbHS Sleney 12 0F.10. oipemen o (hddH 18 OF.5 pHend
wLBBID 16 GF.15 SIB6OWPD 2 66N @(H SAIFLFaIMNBLD o (HaUTHSILGHBSH. DbDH HOTFOF6I6IHHJ 60T
2 _WJSHMmBHS SHIT6wISH

a. 6 Q.16 b. 7 G185 ¢ 8 G5 d. 10 G e. allewL Oz fuialsdensv

A car travels 90 km in 2 hours 30 minutes. Then the time required to cover 210 km with the
same speed is

a. 5 hours 50 minutes b. 5 hours 30 minutes

c. 5 hours 20 minutes d. 6 hours 50 minutes

e. Answer not known

Q@M WwAWHH 90 & FHTHSmPH 2 wewl 30 HUOLBEBND SLEGW. D6H GaussHHevd 210
B0 Lemgdh &LdHH G Cryb

a. 5 wewil 50 MHLOLFiseT b. 5 wewll 30 BHOL s

C. 5 wewll 20 BIOL M6l d. 6 wewil 50 PO Fibe

e. alemL O flwailsvenso
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129.

130.

131.

132.

133.

The radius of two right circular cylinder is in the ratio 3 : 2. The ratios of their heights is 5 : 3.
Then the ratio of their C.5.A. is

a.5:2 b.5:3 c.3:2

d.2:5 e. Answer not known

Byewih GBT e L 2o (hevensefen SImiHeier aldlsd 3 : 2 eeis. Goab Seumpsler o uwigmigserer
&z 5 : 3 erefled SjeuBmlen euemeTLIFLIL|BeMen alldlgHd

a.5:2 b.5:3 c.3:2

d.2:5 e. alewL OxfNweaisoensv

If price of a tea increased by 20%, by what percentage must the conusmption be reduced to
keep the expense the same

a. 153% b. 162% C. 172%
3 3 3

d. 185 % e. Answer not known

Gzpulemevuierr aflemev 20cp SIFBMSGLOUTH  BHulemev LwETUTL QT  OQF6vey  LOTBTOED  E(HBHS
Bzpulemev LIWIGTUTL 19606 6TSHHmeN FHAIBHLD (&MBSHHIDH0HT6Ten Couemi(BLD?

a. 152% b. 162% C. 172%
3 3 3
d. 18%% e. alewL OxfNweaisiensv

Akila scored 80% of marks in an examination. If her score was 576 marks. Find the maximum
marks of the examination.

a. 640 b. 680 c. 720

d. 700 e. Answer not known

oBler @ Gaaled 80% wWHLICUIBMeT CUBMBTET. SjeueT GLBBH 576 WLAHLCLEHIBNT. Db
Bxitallelr GOTEHE LHIIOLICHIHMENS SHTENIH

a. 640 b. 680 c. 720

d. 700 e. el GaMuwealsdemed

‘Promoting soil health” and ‘making rainwater harvesting compulsory” - These statements
relates to

a. Green revolution b. Blue revolution

c. Evergreen revolution d. Yellow revolution

e. Answer not known

‘ipemiTeuenHend  CbUBGSHHIHD  WLBBID ‘BT Caflmu  sULTWILGSSHIHR - EdImBBIL 6o
OBHTLTLemL WIS

a. ugenlyL gl b. Bty H

C. uUgewLoWImes Lyl gl d. wehaeir Yy A

e. alemL O flwalsvenso

Which are the articles that describe situations and confer power to Union Government to claim
control over states

a. Art 368 and 313 b. Art 356 and 363

c. Art 365, 256 and 257 d. Art 349 and 350

e. Answer not known
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134.

135.

136.

6hd FLLMIBET GHemevd SH(HS OMHL DIFSeN HHW & & BLUUBHSHID
FnBIF) BTB6IT.

a. 8755 368 BEIDd 313 b. #7531 356 WwHHID 363

C. FJ&H& 365, 256 @mpid 257 d. gysa 349 wBpd 350

e. alemL Oz flwailsvenso

The functions of Reserve Bank of India are

i. Issue of coins and Bank notes

ii. Banker to the Government

iii. = Regulating credit in the country

a.iand ii only b.i and iii only c. ii and iii only
d. i, ii and iii e. answer not known

@bFHw faiel sumsluller GaweoLITBE6Te60T

1. BTEOILIBIG6T LoBBID epuTwl CHTLH GeueiulBgHe0

i. SIIFTRISSHHBE URISWTENTTS 6lFweOLIHH60

1ii. BTLI960 SL 6T (PenBHMET Q(LMIGLBSHSHIHE0

a.i ppib ii Wl G b.i wBmid iii wL G c.il ompub iii L B
d.i, ii wmgd iii e. alew OaMweaisoensy

How many pairs are correctly matched?

Vaccine Nature

1. Pfizer - mRNA vaccine

2. Covishield - DNA based vaccine

3. Covaxin - Inactive vaccine

4. Sputnik. V - Viral vector vaccine

a. 1 pair b. 2 pairs c. 3 pairs
d. 4 pairs e. Answer not known

asemen Cmmeser Fflwms GUIHSSLILL (BeiTernet?

ICININE: QFWwied

1. Pfizer - mRNA 56U

2. Covishield - DNA sgiiuenLuieorer  sbLILLdS

3. Covaxin - QFwediphs HOHULS

4. Sputnik. V - mauyed GeudbL i HoHUILS

a. 1 Gmmg b. 2 Gmmgmei c. 3 Ggmgsmar
d. 4 Gxmmgmer e. alomL Oafwaledenso

Tamil Nadu State has which of the following policy/policies?

1. Tamil Nadu R and D Policy

2. Tamil Nadu Life Sciences Promotion Policy

3. Tamil Nadu Footwear and Leather Products Policy

4. Tamil Nadu Fintech Policy

a.1,3and 4 b.1and 3 c.1,2and 3
d.1,2and 4 e. Answer not known

SODHTH  rHevd Lleaupd COEmeliend / OsbTeensseiey 6lend GQUBBI6TETS?
1. s0ppTh R wppid D uredd

2. sWpeTh Life Sciences Promotion wumedie

3. OWHTH sTevenll BBID CHTed CUTIHL ST LT

4. sOPETH .Ul s ureld
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137.

138.

139.

140.

a.1, 3 wpyid 4 b. 1 wBmb 3 c. 1, 2 wBmb 3
d. 1, 2 By 4 e. alowL O MNuelsdamen

Which of the following are correctly paired?

i. New India and Commonweal - Mrs. Annie Besant

ii. Kesari and Maratha - Bala Gangadhar Tilak

iii. Indian Opinion - Gopal Hari Deshmukh

iv. Indu Prakash - Mahatma Gandhi

a.iand ii b.i, and iv c.1and iii

d. iii and iv e. Answer not known

Lerau(heueteuBpled eTemeu Fflwimasll GQUIT(HbHSU6Termest?

1. P, @hHwm oBpILd Sriosaisd - HEwS. SieETENCLFHIL  DIDEDLOWITT
i. Gxal OBEBID LOITHST - UT6OSMBIBTSHT FH 60T

iii. @bwi smEsH3 - Gamumed amfl CHad(ps

iv. @bg Lysmend - LDBHTHIOT SHHF)

a.i wmpd ii b.i wBpb iv C.i Bmb iii
d. iii @b iv e. alowL  OFfuelsveney

What are the pillar of block chain technology?

1. Transparency 2. Immutability 3. Decentralisation
a.land 2 b.1and 3 c.2and 3
d.1,2and 3 e. Answer not known

Uenmd GFulleir GILdbemmeuedlulleir  SHITewTaHe6lT 6lene?

1. GeuefiliLemnL &Heienio 2. LDTBIH60 B6L60THI 3. LIJeUeVTE G H6V

a. 1 By 2 b. 1 wBpwb 3 C. 2 Bpid 3
d. 1, 2 wBmd 3 e. alowL OxfNuialsdenso

Which of the following act was described by Jawaharlal Nehru as the ‘Charter of Slavery’?

a. Government of India Act of 1909 b. Government of India Act of 1919

c. Government of India Act of 1935 d. Government of India Act of 1947

e. Answer not known

SPEBTEDID FLLMIS6MeD 618 Digenindeiled LILL WD 6T Meuamieomsd Ghmalermed afleufldaliu L g)?
a. @bHw SFThSESF FULWD 1909 b. @bHu aTHIEF FULD 1919

C. @hFw SPsTRISF FULLD 1935 d. @b opsThRsSs FULID 1947

e. alemL Gafwealedenso

The steps adopted in the long term conservation strategy of wild life is/are

i. Hunting should be strictly prohibited in the nation parks, sanctuaries, biosphere reserves

ii. More national parks and wild life sanctuaries should be established

iii. ~ Captive breeding of wildlife should not be encouraged

a.ionly b. ii and iii only c.iandii only

d. iand iii only e. Answer not known

aUe  QIl6VRIGHBENEN LITHISTHGSD HeWIL HT60 aUN(LPedBHeTeT QBHTLT DIDFRIHET 6I6TLIN6

1. CaprHlw UmBTHH6T, FTenimeomsel, o ulTeaCamen smiusmser ublweubsled Ceul enLwimBeug
gL OFuwiwiie Geuewi(hLd

ii. Guoauild CahFlW UBISTEHS6T BBID alaTalevmIE FJenTTeOWmIG6T BmeulitL Geauemt(HLd

iii. aueTalevRIGEaMer Fenpliul L QMICLIHSHHMS 261HEaldbHHImL TH]

a.1 Wl @b b.ii @b iii G d.i wBpid ii G
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141.

142.

143.

144.

d.i wBpid iii 1w’ G e. alowL O MNualsdamen

Which of the following statements about the citizenship Amendment Act, (CAA) 2019 are true?

1. Citizenship will be granted to all the foreigners who lived in India for more than six years

2. Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or Christian Communities
from Afghanistan, Bangladesh and Pakistan who entered India on or before 31 Dec, 2014

3. Members of specific communities will be granted citizenship within 6 years instead of 12
years

4. The CAA will help to the preparation of National Register of Citizens

a.1and 2 are true b. 2 and 4 are true c. 3 and 4 are true

d. 2 and 3 are true e. Answer not known

Guflow Hmsss sirbd (CAA) 2019 upw eleumd gBpIEaTsd 61HI/ lenel 2 amlenLowlTeaneney?

. @bhswunaled 6 ewibseEnrbFH G0 aumdhd Dwaihd  OCeuelBTRerHESGSL  Glpufleno
GUIPMISBLILI(BLD

2. gisTelevsHTe, LURSMTCHas LBBId uTdSlervgraled SmbH eubd 31 aFbuT 201485@ (1P
ObsWUTalBG6T HMWHS ObHHSH6T, FEHBWTH6T, OLMSDHTH6T, mWEITH6T, UTTHH6 D606V
Fflevglen Fepasmiseler o mlameendE Glulfemo

3. ePUILL  gepsmsmend CHHIHATHEHSEG 12 WIHIEHHEG UHOTS 6  DLeWIBHHEHHEH6NT
Glguiflento  auPmISLILIHLD.

4. @uwdHseia BGhFw uHCalemL swumiiugedy CAA 2 salb

a. 1 wpmib 2 g b. 2 wBgd 4 &M C. 3 wBpd 4 &

d. 2 wBmpb 3 & e. alewL Opfwaledenso

Find the mismatched answer about the Indian Railway Zones

a. Southern - Chennai
b. Central - Jaipur

c. Northern - New Delhi
d. Eastern - Kolkata

e. Answer not known
Ueteumerreuimier  @pHw  gulledBeu  WewILevd GMISHSH  FHuUBTEHL  QUIHSSUILL BeiTen  allenLenuwld
BHITCITSH

a. Omo - Qg eiene
b. wsHwLLEGS - Qeguiigt
C. Q&G - Ugl Heved
d. Hpss - QBTEOBHSHT
e. alewL Ggflualsvenso
was the contemporary of Emepror Akbar in England
a. King John b. Queen Elizabeth-I c. Queen Victoria
d. King Charles II e. Answer not known
SIBLIT HTeHHL BmIFevThend Sl & CFuiIgHeuT
a. LDGTGUIGST EQesT b. wseomb Gyrenl eredF6LG
c. @ymewil allsGLmilul d. owsT ByeNiLmb &miTeverd

e. alewL OFflweaiedensv

Meadows Taylor observes that the death of was ‘the beginning of the end” of the
Bahmani Kingdom
a. Mahmud Gawan b. Ahmad Shah c. Mahmud Shah
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d. Humayun
OGLTed  GILul60IT
a. aBIDG SHeUTeN
d. emromuyer

145.  Match the following

e. Answer not known

a1 gerlld UTaBoel Sl Fullet (pgaile SLIIDLLD 6T6TmI &6t
b. siabiog agr C. LDQBIDS QT

e. alewL Ggflwalsvenso

A. Garo 1. Assam

B. Kuki 2. Mizoram

C. Todas 3. Tamil Nadu

D. Miri 4. Arunachal Pradesh
A B C D

a 2 4 1 3

b 1 2 4 3

C 1 2 3 4

d. 2 4 3 1

e. Answer not known

CUT(HSHIS

A. &1@ym 1. SlerdenTD

B. ad 2. 10GFTyID

C. GamLi 3. FODBETH

D. 10 4. o(mewm&FelILITCHEFLD
A B C D

a. 2 4 1 3

b. 1 2 4 3

C. 1 2 3 4

d. 2 4 3 %

e. allenL  Gafwailsvenev

146. Choose the correct match

1. Ariz-I-Mumalik
2. Mushrif-I-Mumalik
3. Dabir-I-Mumalik

4. Mustaufi-I-Mumalik

a.1,2and 3 only
d.1, 3 and 4 only

- Minister for Defence

- Accountant General

- Minister for public grievance
- Auditor General

b. 2,3 and 4 only

e. answer not known

c.1,2 and 4 only

gflwrsl QurmbhHweuBens CHiTw

9lfley-g-(pLomedld
Wadifll-eg-(pLomedld
STLINT-29-(LpLomeVl s
(POGSHEILT-22-(LpLOTed &
I, 2 BB 3 WG
1, 3 .oBmIb 4 WL BHLd

T N e

- UTSISMTUL SIDLDF ST
- BHENEVENLDDH G601 SBITENIT
- QUTHIDSHFHET GHMBATLIL] DIHIOFSFT
- HEMELEDIDG, 6wl SHUITENIT
b. 2, 3 wBE@IDd 4 W G C.
e. alemL Ggflualsvenso

I, 2 wBBID 4 WG

147.  Which constitutional amendment incorporated Puducherry in the Union of India?

a. Tenth
d. Twenty second
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b. Twelfth c. Fourteenth

e. Answer not known
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b SFmlLS HodHD HHEFCHImw Ghsw gamlusded Csidsa?
a. USHSHTeug| b. ueelyemLTeugi C. U GNTEIIHToUDI
d. ®musHulyewimeaig e. alowL O MNuelsdamen

148.  Arrange in chronological order

1. Sarkaria Commission 2. Balwantrai Mehta Committee
3.Rajamannar Committee 4. Administrative Reforms Commission
a.2,3,1,4 b.2,4,3,1 c.2,4,1,3
d.4,2,3,1 e. Answer not known

B 2 eeneuBenmd HTevauflenglILBHHS

1. gidbamur gLemeruid 2. uevaubSITUI BHSHT G

3. JTEQLOGHTENITT (G (LD 4. pliteuns FMHHSHH SLEHEOIUILD
a.2,3,1,4 b.2,4,3,1 c.2,4,1,3
d.4,2,3,1 e. alew OxMNuwealsoensv

149.  Which of the following statement(s) is true about the union territories of India?

1. From 26t Jan 2020, Dadra and Nagar Haveli and Daman and Diu are combined to a single
territory.

2. Articles 239 to 241 in Part VII of the constitution deal with union territories

3. The two union territories from the former state of Jammu and Kashmir are Ladakh and
Jammu and Kashmir

4. The largest union territory of India is Andaman and Nicobar Islands

a.1, 2 and 4 are correct b.1 and 3 are correct

c. 2 and 4 are correct d. 2, 3 and 4 are correct

e. Answer not known

@r;,@u_lrrmﬂm UL, 607U 160 ﬂ]q@g,&rm&a@s)mu Uﬂ}[ﬂu_l LedTeu(mLd &rnmgu&,mﬂm % 2 ewienln?
26 gavteufl 2020 (pSHed STHIT LBBID BHTSTABCMe WHBBID LA OBHBID LW, Sisluiener oGy
pCapaions  BenewthaLILIL (H6TeNT6dl.

2. opdwevenoliflesr  VII  ugduiled o eitem 239 apsev 241 euemyulevmenr  Lifleysei  uyeoflulest
LpBxpamige OHTLTLIT6TEN6!

3. (phemd W OTHlevTe I WBmID  STeddfar e Wwelwer Ly8samsel, eLMdH  LOBMID
MU LOBWID SHTARST GLESLD

4. @psHwraler Wsloufw wellwer pCasd Sibsomet oBpId HHGHTUTT &He w6l

a. 1, 2 wpp 4 g b. 1 wBmb 3 & C. 2 wBpd 4 &

d. 2, 3 wBpd 4 & e. alewL Oafuialsdensv

150. Choose the correct answer:
The fundamental rights have been described as

i. The Magna Carta of India

ii. The Conscience of the Constitution

iii. The soul of the constitution

iv. Inspiration from bill of rights of American constitution
a. (i) and (ii) only b. (ii) and (iii) only

c. (i) and (iii) only d. (i), (ii), (iii) and (iv)

e. Answer not known
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151.

152.

153.

S8 o eemaumBpsled(pibgk  Filwmer  uSHemev  CHTHOBHHIHD. gLl 2 fleniosmelt
alleuflsalILBGSBSI

1. @bHw wsseilear o Menseier Fraeibd

ii. ofluweveniolifet weTaml &

iii. @flwevemioliNeT ST

iv. 96wféss Spdwevenioliier o feniser wCsFTHTalem 2 &Baisbb

a.iwmpb il wl Bb b. ii B iii w B

C. 1o iii L (B d. i, ii, iii oBmIDd emer

e. alemL Gafwealsdenso

Match the following;:
Committee Year

A. Goswami committee on electoral reforms 1. 1993
B. Vohra committee report 2. 1998
C. Indrajit Gupta committee on state funding

of Elections 3. 2008
D. The second administrative Reforms Commission 4. 1990
A B C D
1 2 3 4
3 2 1 4
2 4 3 1
4 1 2 3
Answer not known

SIPSBTILIBENMBL  CUIT[HSHSHIH:

GICY 246m1(h
A. Bxiized FiHmssnsen QSTLUTET CaTervaumd @1p 1. 1993
B. Gamm g opsms 2. 1998
C. spdler Hweliny epeoonsd Coisese LBSW BhAreds GUsT & 3. 2008

4. 1990

P an o

D. gyewi_noug fitaunss S hHs Spemeamiib
A B C D

a 1 2

b. 3 2

C. 2 4

d

e.

W =

3

1

3
4 1 2
allewL  OFflweaiedensv

The process of establishment of an organisation in a new habitat is known as

a. Ecesis b. Migration c. Immigration
d. Coaction e. Answer not known

T 2 ulfl Herg UHW aumPL SHe0 Heitener alflaLUBGSHHID CFUIGD TSI

a. HMEULILIBSHSHIH60 b. yeoliGUWITES C. GUIBHHLD
d. saaimer e. alewL Oz fuialsdensv

Which of the following characteristics of science is not true?

i It is guided by natural law
ii. It is testable against the observable world
iii. It’s conclusions are permanent
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154.

155.

156.

iv. It is falsifiable

a. (ii) (iii) and (iv)only b. (iii) and (iv) only c. (iii) only
d. (iv) only e. Answer not known

aflalweder LleTeuhd LG H6eMe0 615 2 60uIenLoulsuev?

1. Bg BuUBME FULHHTE0 aulfl BLSHHIUGBHMBSHI.

l. BF STaMHImQU 2 0SS5HDBEG aHTTH Cardldddamlguig

1ii. BT (PYRH6T HIFHSHTLOTETEn6

iv. Bz QUTUIWTGSSS FnlguiF]

a. i, iii wBmb iv WL G b. iii wBEpDd iv WL G c. iii L (B
d. iv o’ @b e. alowL O MNuwealsdamen

Assertion (A): Critical thinking focuses on what causes a belief

Reason (R): Critical thinking entails evaluation and formulation and it operates
according to rational standards in that beliefs are judged by how well they
are supported by reasons.

a. Aistrue but R is false

b. A is false but R is true

c. Both A and R are true, R is the correct explanation of A

d. Both A and R are true, and R is not the correct explanation of A.

e. Answer not known

a&op (A): e uww  FAbsmer, @m  BOUEmSMW  gBUBSHIHIUBN  (WSHBW  SHTTENILOTS
SIS B!

smyenoid(R): o uiw SbgHement GTEITLIG! HILIH LOBMILD ® (HeUTEHSBID S FWaIBmB
2 _GlTeNL sG] LOBBILD 9|5 WGEE Y & Blem6ev&E 61T 6aTLILY
CFweOLIBGH MBS SbHD BLOLT bem B eIt BT[] GBI 6TV aRIBIIOY Fpriurs

AFMEBILBSIIBET 6THILIGHET (LPeVLD  STLOTENSSLILIBSBEI.
A gf, spemmed R sHeum
A saupl, spemmed R &
A vppd R Gyemp i, wppd R eeug A olBg sfwner ailendsworgld
A wppid R yewpio sf, opmid R asug A alBg sflwner alendsineeo
allewL  OFMwealedenev

o an o

If ZEBRA can be written as 2652181. How can COBRA be written?

a. 3102181 b. 3152181 c. 3182215
d. 3182181 e. Answer not known
ZEBRA eneu 2652181 etemr srpseomid etetimred COBRA g s1apslin@n?
a. 3102181 b. 3152181 c. 3182215
d. 3182181 e. alowL O MNuelsdamen

The instrument used to measure the atmospheric ozone concentration is

a. Dobsonmeter b. Barometer c. Hygrometer

d. Anemometer e. Answer not known

aueDeTL 60 FHe0 2 6iten GaTa SILTHHeww el o LBWTHSGSD HmHal

a. GumiBsmesr 15 LT b. uGym LT C. emam&Gym LT
d. &eGwr LT e. alowL Oz fwaledenso
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157.

158.

159.

160.

Which among the following is/are wrong about a fertilizer?

i. Fertilizer must be insoluble in water

ii. It should maintain the pH of 10 to 13

iii. It should not be poisonous to plants

a. only iii b. iandii c. 1,1, iii
d. only ii e. answer not known

SPEHFHTEID FmBBIFefled o JhEeT GBHD SHuBTea FaBml 61517

1. o gmsel BHiled SmIwng QHHHe0 GCeuewi(BLd

1. o gmiser 10 (pHev 13pH & ugmofigsed GouewiBd

iii. ® _JRIG6T SHTOUIRIBEHHEG HFHGHNTE EB(HHH60 Tnl MG

a. iii 1o’ B b. i wBmb ii c. I, ii ommio iii
d. ii @b e. alew OzMwalsoensv

Which of the following statement is correct about the aim of Pradhan Mantri Uijwala Yojana

(PMUY)

a. to provide Health Service and Clean Environment to Rural Women

b. to provide clean energy fuel of liquified petroleum gas to all rural households

c. to provide clean water and environment

d. to provide quality food and health

e. Answer not known

Ursw  whAMulear o geureor Curmenm S sdHar (PMUY) @1 wpésdw Grpréassmsll LB

Lelieubld SnBmIseaiey 6hd eeiiml &iflwmenndi?

a. &Garems GCsmeu LHEBID SSHSHTET SBBIFGLOME SHITLUUDB &S6T(HHEG eauphs CeouasiBLD.

b. smasa  Hymolys  IBBEHEGSID  HFeuordssiul L. &HGHswrer  Oul Grmedw  euTu]  SLBBEL
erflQUT(HEm6N  6ULPEIGHH60

C. &iHSLOTET SHewIewiT OBBID SBBISFEMme0 IS Geuemr(BLD.

d. assoTer o ewie| LBBID GHTHTIHMS eUDkIE Geuemsi(HLD.

e. alwL Gaflwalsveneo

What are the Forms of Central Bank Digital Currency (CBDC) proposed to be introduced by
RBI?

1. Account-based 2. Token based
a. 1only b. 2 only c. Tand 2
d. neither 1 nor 2 e. answer not known

@b flgrel oumigd  SPWsIUBGHS 2 66 Wl aumSUNST  QLUIBIST  eTeTaml  LIewT &3 6
SIMLOLILFH6IT  616IGUTBTEI6n6Y ?

1. QRIHD Hewidh@ DIQLILIML UT60T6Tg

2. SewLWTen aille0ensv

a. 1 wlBw b. 2 w’ @b c. 1 ppid 2
d. 1 b ®evemev 210 B6Vem6V e. alowL O MNuealsdamen

Which among the following is/are not associated with “Catch the Rain” campaign?

i. The campaign is launched by National Water Mission

ii. The campaign drives to make check dams and water harvesting pits

iii. =~ The campaign stresses the removal of obstructions in the canals

iv.  The campaign requested the central institutions to open rain centres to guide people to
harvest rain

a. ionly b. ii and iii only c. iandii only
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161.

162.

163.

d. iv only e. Answer not known
LeTeu(heuasteuBmIel QuISSHBHIL 6T OFHTLTLIe0e0THSH 61517

1. BOhs Bussorearg Caxflw B ueiwTed OHTLMISLILLL G

ii. BObd Bussraigl, HbLILmeE6T BEBID BT CFafiy G BLYSHMBHMET DENLDHHBSI.

iii. BHTLTUIHETED 2 66N HeWL HM6T DBMB BbdH BUISHID eI BISHHISBS).

1v. welp BT Csullds WWHHEHHESG UHSTLL MY MWLKIGMET HBHSLTH Db BuwissLd
wHHW Hpeuarhisemner Cal(hd OHTemIBeTengd).

a. i wL@Bb b. ii wBmub iii wr GD C. 1 Bmib il L B

d. iv wl @ e. alewL Oafwealsoensv

The abbreviated term VVPAT stands for

a. Voter Visit Poll Account Trail b. Voter Visit Press Audit Trail

c. Voter Verifiable Paper Audit Trail d. Voter Verifiable Paper Account Trail
e. Answer not known

VVPAT aaeniid améasiiu’ LF QFmed @piliug)

QUTSHBTONT 6UHNS UTHOBBLIL HEML (Pen)

UTSHSTeNT OFHefeurenr LSHHNbmE Hewldbend HewL (LPewB

UTSHSTeNT FAUTTSSEIQUI BTHHH SHeWNDHmeES HEML (LHen)s

UTSSTeNT FAUTTSSEIIQU BTHGHD HewdhE HOL (LPeVB

alenL  OFfwailsvenev

o an o

Assertion (A): The desert region of India can be divided into two parts - “The great
desert” and “the little desert”.
Reason (R): Between these two deserts lies a zone consisting of rocky land and cut up
by limestone ridges.

A is true but R is false

Both A and R are true, and R is the correct explanation of A

A is false, R is true

Both A and R are true, but R is not the correct explanation of A

. Answer not known

Fgpm (R): @bHwreler UTemevelal LGHdW Qe uGHsenmmall  Lfldseomd  “Guiflu
LITem6VeU6TD” LoBMID  ‘Fpfiur LmeneveueId’

smpenid (R): @bs Bm uTmeveuamaeEnsSem G UTenB  [Bleod  BBID — HEWewIMDLS — &H6v
(P&EBHEMTEL Geul LU L 6 LOGUIL VDL 266G,

o on o

a. A spp g gemed R smyewid sHeuml

b. A smm wBpio; R srgenid QyewiGo af, wBpid A sapupibstear R sryeond il

c. A By saum, R asmyewid gl

d. A spp wipd R styeomd @yewiho M, uemed A gam@Bpibstear sryend R Heup)

e. alewL Ggflualsvenso

Which of the following is responsible for protecting humans from harmful ultraviolet rays?
a. UV-A b. UV-C

c. Ozone layer d. None of the above

e. Answer not known

SmlG almenaldb@Gld LB 2agHTd &HTHale0 EmbaH OIS THmen LITHSTUILS LaeumeueBnled 61g?
a. UV-A b. UV -C

C. @BFma LIL6vLD d. Gwed 2 _sieNenal ©IEL6V

e. alemL Oz flwalsvenso
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164.

165.

M. Visvesvaraya’s birthday is celebrated as Engineer’s Day in India. He was the Dewan of
which Princely state?

a. Hyderabad b. Jodhpur c. Mysore

d. Gwalior e. Answer not known

M. allerGsusrvsuguimeler LIppbEHpTer bHwimaler GumpiwmenT Hearorsd OCBTERILTLLILGSBSH. DleuT
6b® FLOVSHTAIHHI HoUTITS BHHSHTT?

a. MABSHITLTSH b. GmrguT C. GOLDGIT

d. @eumedwi e. alewL Oz Muwealsdensv

Read the following passage and answer the item that follows:

Agriculture continues to be the backbone of the state economy, as it provides livelihood

security and food security. The overall crop yields in the stateis  bright. =~ The South West

monsoon rainfall was normal and its even distribution helped to recharge of

groundwater considerably and kept the state with ~ adequate storage. All these factors made

the irrigation scenario in the state encouraging. As a result more area was brought

under cultivation. The  government also provided adequate and timely supply of inputs

through its agricultural extention centres. Sufficient and timely crop loans were made

available for the eligible farmers through primary Agricultural Cooperative Societies.

Which of the following is best implied in the passage?

a. Agriculture of the state still remain a lifeline for the people

b. Due to proper rainfall and government effort to provide agricultural loan and inputs
agriculture turned prosperity.

c. Primary agricultural cooperative banks play a crucial role in agricultural development.

d. Over exploitation of ground water to agricultural sector will affect the growth of other
sectors.

e. Answer not known

Uateupd LSS LIRSS Dend OSTLTHS eublh alamalBg el wier.

rplevll  GUTHEMTHTISHSH  (PpSHI0BeIDLTE  CousnmentienoCi  OFHTLTHEH 2 6Tengl. BFH  eUTDHMSBSH

OzMPed UTSHISTUmUWD WLHBEID 2 6wie|l UTSHISTUmULD  SefssBgl.  wmpleo uulT  alenendgeo

yengores QmbIHmal. 0HaCoB@l  Umauwepll Gumfle) Buieoumse|d SiMarSHIll LGS Saiaid

gImTE  QHbHSSTL BHevdsly BT GBUILSHSHHS Sene| Wer BiFblwg. Guwaib wibHesgled Gurgiw

o) BT  AHUY  DEbSHEH.  SDoamaisHHd  STImisend  CFHEH  BHIUTFRT GOV

omGEILGSSH LS. B almeneurs oHle  Beomser vulfiiiulLen  opsb  Gurgu  Geuernmen

o srefpaemens gflwmenr CrysHaled Geuenmewt alflourds emWWMIGSET cpevld  aupmISer.  Gurgulemey

uuirésLar gflwrer Crrssled HGHueren alausmulseEnsdgd BT Hs GaenTeawl gnl (BBe| SHIGHIGET

CPGULD Bl SHS Uend GFUILILILL L .

Heteumd 6bgd GamBompmLT GG o eten usFHulear o I ambmaps Fpliuns GeuellabsmaTang?

a. wmplev GeuenmenienoGul D&HHEHGHE @eTpid o WITIUTMSWTS 2 6TeNg

b. gflwrer wepliIGUTHauTeD, Gauenmewt 2 _eTefHes6T WOBEBID HLET aupkIdul rdler (puBdwmeid
Gouenmemtenty QFLHILILINL [HSHI6iTENS]

c. Geouenmewt oLial(pHHuUID OFHTLSHS Gouenmemt Fnl BB URISIBET (PHSUW LIEIG Ul 6me.

d. Geuenmewieniod@ MevdHdle Bewy LemawTsll UWeaLGSHSleus LB SHiennaefer QU6NT& SlemuiLs
LTS &G LD

e. alewL Gzflualsbenso
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166.  Which is/are the provision inserted in the Central Universities (Amendment) Act, 2022

1.
2.

3.
4.

a.

d.

Establishment of Gati Shakti Vishwa vidyala

Providing high quality teaching, research and skill development in diverse disciplines
related to physical sciences

Upgradation of State Universities to Central Universities

Providing high quality teaching, research and skill development in diverse disciplines
related to transportation, technology and management.

1land 2 b. 2and 3 c. Tand 3

land 4 e. answer not known

WSHHUWL LIOHMELSHLOFBHIBET (H(HHHWD) FLULID, 2022 60 CaFTeHSUILLL FIHHHH6T 6157

1.
2.

3.
4.

a.

d.

&3 55 alageualdHuieor BBieUlILL 6O

Auptiwed opeallwed GHTLTUTET LGB GHlempdeaied o WiTEHy SBLUIGHH0, SITUIFS  LOBHID
HmSTCLOUTE  SLBWIIBMB  CULPTHIE H60

LOMHI6VLI  LIGOSHMEVSBLOEHIBMET LDHH UL LIe0SHMeVSHDBIDSERIGENTHS SHID 2 WITSHEHIH60
Gunas@ardsd TP HILLD wBBID Geuenmewieny OFHTLTUTET LGB HimBHeied o WITHT
BBLISH60 ITUIFS oBE@ID FHmeir GobLIT ML eULPHIEG FH60

1 wBpn 2 b. 2 wBpb 3 c. 1 wwmpid 3

1 oBp 4 e. alewL Ggflweaisvenso

167.  Assertion A: When price decreases, purchasing power increases, and vice versa
Reason R:  When the production of goods decline, the price of goods increases and then the

oo T

purchasing power is affected.
A is correct and R is false
Both A and R are false statement
A is correct but R is not a correct explanation
A is correct, R is the correct explanation of A.
Answer not known

oo (A):  ellemey GHOBHSTED UTHGLD Fo8 SiHsNedBa wBpID B ChToTBras
smyenid (R): GQurmpeflen o BuSHSH GoBha, alened SIFSNILSTD aTHIGLD HpesT LTHSSLILGSBSI.

a.

b.

C.

d.

e.

A spm sflwreng, R sryewid saimpreis

A spBm oppb R smyewid QyesiB SHeusrensi

A spm sflwreng, spemed R argewid gflwmer alenssd &ie060
A spm sflwreng, R smeod gamm A e gflwmenr aflendsid
alenL  Ggflwealsvenev

168.  Match the following:

Chairman Committee

A. Kaka Kaleekar 1. Tribal Development

B. Xaxa 2. 7th pay commission

C. Mandal 3. Second backward class commission

D. Justice A.K. Mathur 4. First backward class commission
A B C D

a 1 3 4 2

b 4 1 3 2

c. 1 4 3 2

d 3 2 4 1

e. Answer not known
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BIPHBHMIL_aUBENBL  CUIT(HSHHIH:

SHEN6VGUIT S

A. srer s8e0sI 1. uprIGlQuileTT (LperGermimLD

B. gngan 2. Tougl oamHuids G

C. pewrL6d 3. @rewiLmeugl LIBUGSSILLCLT @D

D. gerdigerd A.K. omghgmit 4. (waeoraugd LUBLUGSSIULCLIT &1
A B C D

a. 1 3 4 2

b. 4 1 3 2

C. 1 4 3 2

d. 3 2 4 1

e. alewL Gafwealsvenso

169.  Arrange the following events associated with Periyar in chronological order:

1. Vaikkom Satyagraha

2. Non-Co-operation Movement

3. Kallukadai Mariyal

4. Leader of Chennai Congress Committee

a. 2,3,4,1 b. 2,4,3,1 c.2,1,3,4
d. 4,2,3,1 e. Answer not known

QuflwrpLeT FLUBSILLL  Hialbaysemend &Tev eauflwalilg auflews LBHIHeaD
1. emeudbsd FHHWTHTHLD

2. RSHHIMPUITENLD EUIHELD

3. &6lEHHHEmL  LOM5ILIED

4. OFaiener STHRISTED S SNV

a. 2,3,4,1 b.2,4,3,1 c.2,1,34
d.4,2,3,1 e. alowL Oz MNuelsamen

170.  Choose the correct chronological order:

a. Rajadhiraja I, Parantaka I, Kulothunga I, Rajaraja I

b. Kulothunga I, Parantaka I, Rajadhiraja I, Rajaditya I

c. Parantaka I, Rajadhiraja I, Kulothunga I, Rajaraja I

d. Parantaka I, Rajaraja I, Rajadhiraja I, Kulothunga I

e. Answer not known

amev auflenaiiug FilwmereuBens CHTHOSB / (LBUILIGHHID:
Srreargdyregest [, upnhosear I, @Geaonshaimiser 1, @preyyregesr I
GGCeurshamidat I, upmhasar 1, @rmemrdrmmer [, Gyregrgdsalwr 1
ugmhgset [, Surerdyremen I, @Caundamisear [, @gmegrmege I
ugnhgset [, @gmeggmeen I, @yreondymegesr 1, @Geundgimiser [
alemL  Ggflwealsvenev

can o

171.  Who said, “Tamizhodu Isaippaadal Maranthariyen”?
a. Thirugnana Sambandar b. Thirunaavukkarasar c. Sundarar
d. Manikkavasagar e. Answer not known
“UICLTG GemaumLe0 BbHHSIGUIET” 6TeTll LITQUIeUT wimT?
a. HmeEhTer FIDLHST b. FHmpreyssyat C. &HHSBHIT
d. wrewidseurasit e. alewL O MNuealsdamen
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172.  Which Tamil Poet injected the spirit of Nationalism and National Integration?

a. Bharathidasan b. Bharathiyar c. Sudanandha Bharathi
d. Kavimani e. Answer not known

b SO HalehT CHFwid wBmId CHFAW @QHEHIDLILITLIQED 2 _6uoliTeyHen6r  FHITENTIQEuITIT?

a. umy&HeHTaFes b. urygwmi C. &FTbHSH LTI

d. seiwenf e. alewL Oz fuwiealsdensv

173.  What was the royal emblem of the Rashtrakutas?

a. Lion b. Golden Eagle c. Tiger
d. Elephant e. Answer not known

gredramL Tdefler Capfluw Hevrerd elevtenr?

a. dmisid b. B swWE c. el
d. wmrenes e. alew OaMwalsoensv

174.  Match the following:

A. Thaarugan 1. Thaer Chakkaram
B. Aazhi 2. Arakkan
C. Natriram 3. Thevar
D. Imaiyavar 4. Araneri
A B C D
a 1 2 3 4
b 2 1 4 3
C 3 1 2 4
d. 4 3 2 1
CUT(HSSHIB:
A. w6 1. CaT&FssHarLD
B. auf 2. S|JH6oT
C. BB 3. Gmpeu
D. ®emwwieui 4. 9B6HH

A B C D
a 1 2 3 4
b. 2 1 4 3
C. 3 1 2 4
d 4 3 2 1
e. alemL Gafwealedenso

175.  Which among the following Inscriptions mention the ancient word ‘Madura’?
A. Inscription at Siddharmalai
B. Inscription at Alagarmalai
C. Inscription at Mamandur
D. Inscription at Paatipuralu

a. A and B only b. A and C only c. Band D only

d. Cand D only e. Answer not known

LN GBTeU(MHLD BH6LOIUL_(HB61T60 Q11%:%: H600IGUL_196 ‘oI’ GTGTENILD LILDGELOULIT 60T
GSBIUILOUL (HeiTergy?

A. Agsimomen He060aul (B
B. 9upsmomed se00aul (b
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C. wrwe@T &H6066u H

D. urggduen se06eul’ (b

a. a wimpIb b o Ho b. a wBmIb ¢ 1w Hib C. b wmub d w1’ Gib
d. cwBmid d @b e. alewL Oafweaisoensv

176.  Read the following and pick out the correct statements:

1.
ii.
iii.

Musical Pillars is one of the wonders of the Nayakka King’s Rule

Music created by rhythmic hitting of stones is wondered by International Musicians

In the Thousand Pillared Hall of Meenakshi Temple in Madurai, one can find small
pillars that exude music when played upon

iv.  The Arthanaareeswara Temple at Rameshwaram consists of Pillars than can be played to
bring out the seven swaras (Notes)

a. iand ii alone are correct b. i, ii, and iii alone are correct

c. 1i,1i, iii and iv all are correct d. i, ii, and iv alone are correct

e. Answer not known
Uelieu@hd OFHTLemyll LpHHSF Fllwunaemnsd CHTbhosHbBHHD

1.
il.

1ii.

BTWSHS LOGSINTH6T il Fuled © (heumen aluidHDHE DML DMTFHHTEIHNT SHLGLD.

&H606VT6L Bengenul 61(LpLILLD BH6M6V(6hIT 61T 60T 6N 61 6T0T600TLD H60I({B, LiedteonTL_(h
SIBlEhTaEHD alwibg GuTiIE6ITmBeT.

wglemy e fuwibwer  Bamuledled o eemr  UiTHIBTEL WL LGHH60 L0 W SHTewIHe6l
o sienenl. BFHe0 @PelbeuT(H Bl STewid BengF 6l EIWLILIMSHD BHTET6OTLD.

iv. @ yrGioerdeuLD DITSHSHBITEO6UTT Bamuieden 2_6iTel HITETTIH61T 60 gD GYORITRIGHGIT
@6UdalILBMmBE BB SH6VTLD.

a. 1,1 gdwemen wL G g b. i,ii, iii eyPuwieneu

c. 1,ii, iii, iv oiwerdaid &l d. i,ii wBge iv syFwemer I G &

e. alewL Gafweaisvensv

177.  Find the missing number in the place of?

N7 - 3

4| 5 6

71 8 9

27| 38 | ?
a. 49 b. 50 c. 51 d.52 e. Answer not known
Q(BLLL  6TCITeN6uT  HIT6mIb.

1| 2 3

4 | 5 6

7| 8 9

27| 38 | ?
a. 49 b. 50 c. 51 d. 52 e. alowL O MNuelsamen

The next term of the Alphanumeric series C4X, FOU, I16R, is

a. K25P b. L25P c. L250 d. L27P e. Answer not known
C4X, F9U, [16R ereti3  s1ewiOemnpshal QT flev8 oibHs o mIiL]
a. K25P b. L25P c. L250 d. L27P e. alewL Oafweaisoensv
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178.

179.

180.

181.

182.

183.

A mat of length 180 m is made by 15 women in 12 days. How long will it take for 32 women to
make a mat of length 512 m?
a. 8 days b. 12 days c. 16 days

d. 20 days e. answer not known

180 5 mengpeiien b UTulewer 15 GuewideT 12 BT sealed Oauigent. 512 16 HemwelTen e
urullemer 32 OLewIs6T OQFUILI 61HHMeT BT H6T SEGHLD?

a. 8 BT &6l b. 12 B el c. 16 BT el

d. 20 B sei e. alewL Oafwealsoensv

An apple costs X 60, a guava costs I 90 and a mango costs I60. How much a pomegranate cost?
a. 360 b. X9 c. 120

d. ¥ 150 e. answer not known

o <ider (Apple) alenso Rs. 60, @m Garuwr (Guava) efemev Rs. 90 w@mid @@ ombLipd
(Mango) afemev Rs. 60. @ wrgienen aienev ereieueney?

a. Rs. 60 b. Rs. 90 c. Rs. 120

d. Rs. 150 e. alewL Ozfweaisoensv

In what time will X 8,000 at 3% per annum, produce the same interest as I 6,000 does in 5 years
at 4% simple interest?

a. 5years b. 5% years c. 3 years

d. 3% years e. answer not known

SIF60 ah. 6,000-68 5 YMIGHefled 4% allg, aiBHH0 HMLSGID SHelau lgud, SiF 8,000-&G
3% ey oinpsHe SHOLEGD SN QUL QUID FDWTH  BHEGLD N0, DUBHET  YEBIBB6I
elalRIETOITS B (HHEHLD?

a. b syemipsel b. 5% syemiHsel C. 3 swmiIBamei

d. 3% syemiBser e. alowL O MNuwelesvamen

Find the HCF of the polynomials 6x3 - 30x2 + 60x - 48 and 3x3 - 12x2 + 21x - 18

a. (x3-3x+2)(x-1).3 b. (x3-3x+2)(x-2).3 c. 3(x-2)

d x-2)(x-1)3 e. Answer not known

6x3 - 30x2 + 60x - 48 wmpd 3x3 - 12x2 + 21x - 18 g dw ueoBIIG CaTeneuseie 15.GUT.6l.
SHITEIE.

a. (x*-3x+2)(x-1).3 b. (x3-3x+2)(x-2).3 c 3(x-2)

d (x-2)(x-1)3 e. alewL OQzpfwealsoensv

Simplify : 100 +8 + 2+ {3 x2) -6 + 2}

a. 123 b. 107 c. 113 d. 103 e. answer not known
ahes&s: 100+8 +2+{3x2)-6 + 2}

a. 123 b. 107 c. 113 d. 103 e. alowL O MNuealsamen

Pick out the correct abbreviation for the word ‘PURA’?
Providing urban amenities in right areas

Providing usual amenities in rural areas

Providing urban amenities in regional areas
Provision of urban amenities in rural areas
Answer not known

P oo
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184.

185.

186.

PURA aaignid GQamevedlest sflwmer alfleurdsshmapd CHTbOHMHHS.
Fflwrenr LGS Haled BBTULB UFHH6T 6ULDHIGH60

&Mool UGS H6M60 6UIDSHHLIOTET AUFHH6IT  GULDHIGH60

OEWTL 6V LIGHAHH6MeD BBTILB UFHH6IT QULDMHIEG)H60

Symoliyp LUGHHelled BSTILB UFHBHM6NT JBLIBHHHIFH60
allenL  OFMwealedenev

oan o

Which of the following measures have been taken to attain the aims of the new industrial
policy?

1. Industrial Licensing

2. Foreign Investment

3. Foreign trade Policy

4. Public sector management

a.1and 4 only b. 2 and 3 only d. 1,2 and 4 only

d.1,2,3and 4 e. Answer not known

SdbeemiauBpleT LHw  OamPBesteiemsule  ChTasmismen  SLeusBESG — Comosmeitemil L
(LPMBSBGIT  WiTeney?

Camfled o b

SIWGVBETLH  (pHed(H

SIWGVHTL B 6uTeniudh OCsTeTend

CuUTE GHlewp HIiTeuTHLD

a. 1 wBpb 4 wl B b. 2 wBpid 3 w GO c. 1, 2 wBpbd 4 w @B

d. 1, 2, 3 wBpd 4 e. alowL O fwelsvensv

Sl e e

According to Indian Tourism Statistics 2022, which tourist place is most visited by Foreign
tourists?
a. Taj Mahal b. Statue of Unity ¢. Mahabalipuram

d. Varanasi e. Answer not known

@bFHw smpeor LeTed eleugd 2022 61 LI SIHHWHTLG SFMHBIOT LwenlseTed DiFHd Senaled Smns
UMTeSUILIBLD SMBHIeVT  SHerLD

a. H1Y DABTEL b. edBLi & &1 e 19 C. LDABTLIEIL|TID

d. eumgesrmdl e. aloL O fuwelsdensn

Which one of the following is not addressed in Mission POSHAN 2.0?
a. Malnutrition in children

b. Malnutrition in adolescent girls

c. Pregnant and lactating mothers

d. Malnutrition in elderly

e. Answer not known

SpsdaTeniLeareuBmieT o1gh Gumager 2.0 HLHHe0 FnpluLTHsl?
a. GHmHHeer ol | FFHH GHMBUTH

b. udann ez Ouemiselen o6 L FFHH GHmMBUTH

C. &Mifenlll GQuemigeT LOBMILD LTETL (LD STUILDTTSHET

d. auwg pHibsaltseler e | FFHa GHmBLTH

e. alemL Gaflweledenso
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187.

188.

189.

Nehru-Mahalanobis planning model was based on the following strategies emphasised are
i. High rate of saving

ii. Preferred a heavy industry

iii. Discouraged import substitution

iv. Safeguard infant industry

a. iand ii correct b. i, ii, and iii correct c. i, 1i, and iv correct
d. i, ii, iii and iv correct e. answer not known

Grm — waeoCETIed FHL wrHf Leeumh o SHiHsemen aueduBISHBHISHBS).

1. 9Fs Gzl eaisb

. sams 0aTheasd (Wweraifleno

iii. @mé@d UHNSL (H 2ooHHO6ETenD

iv. ydw QFHTPeNsE UTSHISTLIL

a.i oppb i & b. i, ii wopmip iii & C. 1, ii oppb iv &
d. i, ii, iii wopmyw iv &M e. alew OzMwalsoensv
Match List I and List II and select the correct answer using the codes given below the
Lists:
List I List II
A. Resignation of Congress Ministries 1. 1943
B. Neil Statue Satyagraha 2. 1942
C. Quit India Resolution 3. 1927
D. Provincial Government of Free India 4. 1939
A B C D
a. 4 3 1 2
b. 2 1 4 3
c. 4 3 2 1
d 4 1 2 3

afleng [ o et eufleng Il -emenl GuUmTBHSH euflensseEnd@sd S CaTBHBUILL(Heen OHTGLILTei6Tern
gflwrenr alemLulewens OFHfle) CFuls.

aflens 1 aufleng 11
A. smidrsa SmwFFTomal LHaT alle0se0 1. 1943
B. me0 Ffewev FHWITEHTHID 2. 1942
C. OousteneniBen GoueiGuiml SHToTeid 3. 1927
D. sazbdy @bIHumaler LOTHTER SFFTHISLD 4. 1939

A B C D

a 4 3 1 2
b. 2 1 4 3
C. 4 3 2 1
d. 4 1 2 3
e. alemL O flwalsvenso

Which of the following is incorrect?

The Indian National Congress boycotted the First Round Table Congress
Gandhiji attended the Second Round Table Congress

After the Second Round Table conference the Gandhi-Irwin pact was signed
Communal Award was associated with Third Round Table Conference

e. Answer not known

pooe

57 | Pag Ph: 044-24339436, 42867555, 9840226187




190.

191.

192.

LevTeu(heueaTeuBled HeUBTesTenel 6Tenel?

WHev aul L Gweng Tl AbhHw CHAw STRISFed LBsHDHmHHA

&MhHY BFenilmeugl eul L Gend MBI 1960 LIRIGHBMITT.

BrewiLmeugdl el LGweng omBTLIBE W] &Mbhd - BTalar @UubsSd gmbul L&
&Lbuyere0 DIUMTH cpeimTd el L Goeng omprLIl GHTLTLemL WG

alenL  Gxfwailsvensv

eopo T

‘Damin-i-koh” was the land given by the British to the

a. Santhal tribes b. Kolu tribes c. Garo tribes

d. Munda tribes e. Answer not known

‘Lmdlen-B-Camam’ eleianid MHlevld S mISIEeulITSH6NTED &G GUPBIGLILL L F|.
a. FhHTeL ULPEIGIQuiestT b. Gamed LipmIGIQUleIT

c. aGym LpHIGIQuUeTT d. (pewi_m LpmiGlgu et

e. alewL GaMwalsdenso

Consider the statement given below and choose the correct answer:
Assertion A: Cultural diffusion is the spread of cultural beliefs and social activities from one
group of people to another

Reason R:  Cultural landscapes have been defined by the world heritage committee as
cultural properties representing the combined works of nature and of man

Both A and R are true: R explains A

Both A and R are true: R does not explain A

A is true R is false

Ais false R is true

e. Answer not known
SHHTEID  UTSBWIRIBmeNS  SHHHL CdTenih OBTHHSLILL (BHeTemaumBpsied Fflwmen  alledLenwid
Gaitey Gauiwe|LD.

oo oe

apm (R): SHEOTHFFMILI LITOU6D 6L HeoTFFMY BLOLSenED6T oBBID Fepd  GFweoLTBaHei
96 GWalelihbgl WBCBTH GUWAIBGLI LTOISTGLD.
snyenid (R): HOTEFFTT  HevHBHTHBBLD 611G “BuIBeds BBID  WeNHeTe  QHBIS MmenH

UL LILBemend  GPSGSLD  HEOTFFTT  LewiHeT  eleol o euabll  umpbuflws
G (LEUTEL  GUENTWIMISBLILIL (HIT6NSI.

a. &op (A) wppitb R smyenoid @yewibo gf @ awpp A smgend R dsrer sflwrer allendasnd

b. &by A wBpw R smembd @rewGn i : swmBm A oBpibd smewmbd R — sster  sflwmer
all61& &1D6060

C. sy A gfl smeobd R sHeuml

d. smsm A seum smemb R &

€. allewL  Gzfluialsbenso

Choose the right matches

1. Khizr Khan - Orissa

2. Durgavati - Gondwana

3. Rana Udai Singh - Mewar

4. Kunwar Man Singh - Ajmir

a. 1 and 2 are correct b. 2 and 3 are correct c. 1 and 4 are correct
d. 3 and 4 are correct e. Answer not known
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193.

194.

195.

gflwrenr QuTmHSHIBemen BHiTey GFUILIOLD

1. &lani smer - g

2. lTETeug) - BamemutL_sumeotm

3. gnewim o SHwidm - Guoeuri

4. BT DTOIFB - ELST

a. 1 1oBmib 2 gflwmetene b. 2 wBpb 3 sfwreaene
c. 1 wmmd 4 gflwmereneu d. 3 wBmid 4 sFwmeaenel

e. alewL OFflweaisdensv

Assertion A: Federalism is merely an institutional arrangement for sharing  power  across
multiple levels of government based on the principle of shared rule and self-rule.
Reason R:  Federations, have constantly adjusted and adopted depending on political, social,
and economic situations.

A'is true but R is false

Both A and R are true and R is correct explanation of A

A is false but R is true

Both A and R are true but R is not the correct explanation of A

Answer not known

B (A):  amlLmid  eeug uSFOULL  old bBp  sw Qs e OsmeTensu e
SlgliuenLuled  SIPFThIS  Hipleuahisefer L0  Henevdelled SIHSTIL  LFeUem60sH
O\BTewI(BHeiT6N ).

snyenid (R): amlLm dael,  opduied, &epsd  LBBID  QUIGTHT  GasCaBL  Hbeno
CamLTFfwns &f QFuIg SHBeUmDSDHID O\BTeiTd a6

a. A sfl suemed R seuml

Pange

b. A wimb R &M wspbd R asmg A & sflurer elengasid

C. A paump spemmed R &l

d. A oBpd R s semed R aeig A &1 sflumer allenssd oj6o60
€. allewL  Gzfluialsbenso

Which of the following statements about the Gupta society is true?

1. The Gupta emperors called themselves as Parama Bhagavatas

2. Trade with Rome and China flourished

3. Women from higher classes wear purdah

4. The custom of Sati was practiced by them

a. 1 and 3 are correct b. 3 and 4 are correct c. only 4 is correct

d.1,2 and 4 are correct  e. answer not known
£Lp&,@[1§1u|jh_uu®ummgﬂeo @ug,rr&,m HTEVF &@g;rrmm @@g,g) %m@&a’ﬂa} Fflwrereney eTemeu?
GLISH DITFTHET HENMBISEETL UJDUTHOISHT 61IHI DIenIDSHHIH O\BT6mTL 6urT.

2. FomeyLanitd. GrmpLepid elwrurgd QFNSHSHHI.

3. 2wt eu@lyll QU6 (PSHDHeT DiewilhHHeurT

4. 2 L GIBLML gMID UPSHSD E(HHHSHI.

a. 1 wppw 3 & b. 3 wmmb 4 & c. 4 w @ g
d. 1, 2 wpyid 4 & e. alewL OFflwalevenev

Which of the following are wrongly paired?

1. Obligation for the state and individual to protect environment - Art48A

2. Early childhood care and education for all children until they - Art 45
complete the age of fourteen years
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3. Separate judiciary from the executive in the public services of the - Art 39

state
4. Voluntary formation, autonomous functioning of cooperative - Art 44

Societies
a. 1,3 and 4 only b. 2,3 and 4 only c.1and 2 only
d. 3 and 4 only e. answer not known
Leleu(heuasieuBiled SHeUBTd BenentdbdLILIL L 6Dl 6Ten6l?
1. FBBIFGWL UTHISTES SJF WLBEBID SHNbHLT6ET SLenLD - allg 48A
2. OIS GSLRHDSBESGID 14 QP WIQUID D] SWHmS

umey ugmofiliy wBpId seoal - algl 45
3. wmpevdHer CuTaE CFemeuseller BTauTasHHelmbs Sl BHHHHmn - alg 39
4. FHeleuiTe o (HeUTdHsD, Fnl (BBey Fhismiseler SHearenm g OFweouTh - allgl 44
a. 1, 3 wmpid 4 wl B b. 2, 3 wBmID 4 WL GO c. 1 wBpid 2 1w (b
d. 3 wBmIbd 4 W GO e. alowL OFfwelsvenev

196.  Identify the incorrect statement Lok Adalat
a. Lok Adalat is a mechanism for speedy trial of the disputes
b. It is not a tool of the legal system
c. Itis a kind of forum to settle cases in an amicable manner
d. Lok Adalat goes to the people to deliver justice at their door steps
e. Answer not known
‘Goord SIFHTEVSH’ UBBIWL HEUBTET 6UTHSIUISHEMS 6wl SlUIeLD
a. Geurd SIFHT6VG 6TGTLIH Q(h GUDDHGSGHHMET aledIhBHl (LPIYoH&HeIe060 OFUIVENLOLIL]
b. 8@ gL gl smal 6060
C. QUPSHGHIMeN FLOTHTE (WemBUlled (Lp1Ya|HEG OBTERIHEIT 6(H 6UEMSBHUITET LOGTHBLD
d. Geurd SiFHTevSH DHE6T euTFB LRECH CFSIE B aIPRIGHBS
e. alewL O fwalsvenso

197.  Match the following:

Subject Protected Year of the enactment
A. Beedi and Cigar worker 1. 1979

B. Contract labour 2.1976

C. Equal remuneration 3.1970

D. Migrant workmen Employment Regulation 4. 1966
A B C D

a. 1 2 3 4
b. i 3 2 1
C 3 2 4 1
d 2 3 4 1

e. Answer not known

BIPHBMILaUBENBL  CQUIT(HSHHIH:

LITSHISTESH60 SuBBrLCL s6E

A. g oBpb A6yl OHTiHevTeniTaserr 1. 1979

B. @uubssh G miheoreniasel 2. 1976

C. g0 eamguib 3. 1970

D. yeob Quuit Gamfleoment GeuemeveumuiliL] eORBISTBBISH60 4. 1966
A B C D

a. 1 2 3 4
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198.

199.

61 | Page

b 4 3 2 1
C. 3 2 4 1
d. 2 3 4 1
e. alewL OFflweaisdensv

Who said, Delegated legislation and administrative tribunals are the manifestation of ‘New

despotism”?
a. John E. Kersell
d. D.L. Hewit

b. Sir Cecil Carr
e. Answer not known

c. Lord Heward

FULLOWBBID SIFHSTT QUUEL LD, FHiteursd SHTULUTWRISEHD ‘U FreurdHsmyshiHear Geuefiium®h

616018 Samlweui wimit?
a. mter E Oaoged
d. D.L. anfel’

Match the following;:
A. Pitt’s India Act, 1784

B. Charter Act, 1813

C. Charter Act, 1833
D. Indian councils Act, 1861

A B C D
a 1 2 3 4
b 3 4 2 1
C 4 3 2 1
d 1 3 2 4

e. Answer not known
SIS HETLaUBMBL  CLIT(HIHHIH:
AL @pFHwF FlLb, 1784

B. snseng s Lwb, 1813

C. gmgeng &l LLD, 1833

D. @bdwus sealsided FlLb, 1861

A B C D
a 1 2 3 4
b. 3 4 2 1
C. 4 3 2 1
d. 1 3 2 4
e. alewL OQFflwaisvensv

b. 1. Afev it
e. alewL Gaflwealsvenso

C. ool eleurit(

1. Decentralization of the Legislative powers of
Governor - General
2. Governor = General’s Government was

known as Government of India for the first time

3. Appointment of Board of control of six members
4. Deprivation of East Indies company’s monopoly
of trade in India

1. BHGUTGOIT Qe 6oty 6ll 66T FLLLOWBBID
SIS BMIRIBN6T DIF BT LITFeUeOTHHD OFU1%H60

2. (LpSH6oT (LPEDBWITS SEUITGOTIT CegearyeViest
SIJFTHIGBLD ‘BhHw ST FTBIGLD 6T60T
SINIPSBLILIL L)

3. om o miienmeamend OQHmewi &L BLLITL
eumflwb HudssiubaHeo

4. @pFwraled  HpsBHBHws
wpBBIfeemuIs (& mBHEH60

sOUaIUIST  THSHD
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